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- Please read and follow the instructions on the OMR Answer Sheet for marking the responses and the
required data. -_
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3. Immediately on opening the Question Paper Booklet by tearing off the paper seal, please check for
(i) The same booklet (A/B/C/D) on each page, (ii) Serial Number of the questions (1-200), (iii) The
number of pages and (iv) Correct Printing. In case of any defect, please report to the invigilator and ask for
replacement of booklet with same code within five minutes from the commencement of the test.

4. Electronic gadgets like Cell Phone, Calculator, Waiches and Mathematical/Log Tables are not permitted into.
the examination hall.

5. Darken the appropriate circles of 1, 2, 3, or 4 in the OMR sheet corresponding to correct or the most
appropriate answer to the conoerned question number in the sheet, Darkening of more than one circle
against any question amomatically gets invalidated.

6. Rough work should be done anly in the space provided in the Question Paper Bookiet.

7. Returnthe OMR Answer Sheet to the invigilator before leaving the examination kall. Failure to return is fiable
for criminad action. Question paper Booklet can be taken away by the candidate.

8. The Question Paper Booklet is printed §n two languages viz. English / Telugu or English / Urdu. In case of
any doubt or anbiguity in any question, then the English version is considered 1o be the correct version.

1. & @) B8 S0 (OMR) o Jam sigudie. aswo® HE0S6rS Sbab SiEad Jomed 80D,
SabE OMR Lo xS wigaadd (misShes SEHED Sdosod,

2. o730 &5% Qb OMR Sn 8 Sm(Boixd 56 10ab RS 66 258 wass’ 865 10 SaEibas

3. B D 2K Ded Dod BB oo drth 1B ¥atHe D : (i) (35D e 55 oF wETS 5 (AB/CID)
(i) iy SR Domg (1-200), (i) e Dopg S0aD (Iv) XTS ool e L35y &5 yaDile, SobSD
ADGATOBE BOARS0R. SO (00D i Dire S o WEZE BF fe BBE GBS aTved
widdod.

4. DoFEN0LTe - VIS, 25 DB, o deo D0 DeSET Lag Tables $08288K Seo S398 stobo@oiss,

3. [rr) UBRSR 202008 (%) Dowgh 1T aoen Ear w8808 POYEIS earwid wbibwor OMR  4ie*d
805 1, 2,3 Sor 4 20,850 o Serm 8gr0. 8 508 b 58,30 Dok ddde od Heo
QoEBodeacin.

6. 852Gk () yeiad” RiEghnm adyd goiarto s Sassoh,

7. 208 S oW wabdd SEph OMR 45% ad2dess an) 30, T 1800S $ge W0 tid.
ErSon edgd $58° S8 ¢y

8. @iEo Soth arind® ImBouartod. @ofifi / Bewts v aohS / agm Dab (he® Lol / o848
DE)EHS, 20’ cnidgadh Dk WOROM Do,

This Booklet consists of 61 Pages for 200 Questions + 02 Pages of Rough Work + 01 Title Page i.e. total 64 Pages.

| EKH AR PPC- GS1



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

A
Adda2417)

Time : 2 Hours ; Marks : 200

Instructions :

(i) Each question carries one mark.
(2963 (D150 ¥ 58y

(i)  Choose the correct or most appropriate answer from the given options to the following questions
and darken, with blue/black ball point pen, the corresponding digit 1, 2, 3 or 4 in the circle
pertaining to the question number concerned in the OMR Answer sheet, separately supplied to
you.
OHS ANIS NS (HHNH 255088 i8S .oO@K) ASFEFIS0D YTV A
0T e0s 1, 2, 3 BE 4 3H0* AN )0 OMR OIrerd D0 (HH) DowLO &
tie> doode EIEX 25 /28 e o0l D) ADTBrAOD VONSBL.

1. Which of the following statements is incorrect regarding the usage of the article ? ,
(1) Eight-year-old Roxy Getter is the youngest girl who climbed the Mount Kilimanjaro in
2017.
(2) Raj : Have you got a cold ? Raghu : No, I’ve got the flu.
(3) Whata lovely dress !
(4) Dr. Kalam was elected President in 2002,

2. Fill in the blanks using the correct preposition : -

Where did you come ? _

(1) for A(ﬂ from (3)  above (4) into
3. Fill in the blank with the appropriate verb form given below :

Raghu cricket when his friend went home yesterday.

(/)/ has played (2) is playing (3) isplayed ' (4) was playing
4. Fill in the blank with the correct verb form.

' French too well. '
(.l—_Y am not understanding (2) do not understand
(3) am not understand (4) do not understanding

5.  Choose the grammatically correct sentence from the options given below :
(1) Neither the teacher nor the students was present in the class.
(2) Neither the teacher nor the students were present in the class.
(3) Neither the teacher nor the students has present in the class.
(4) Neither the teacher nor the students is present in the class.

6.  Which of the following sentences has a subject that does not agree with the verb ?
(1)  Every shirt, tie and coat is marked for reduction sale.
(2)  Neither our Accounts Department nor our Head Office have a record of the transaction.
(3) Excessive absences were the reason for his failure.
(4) The committee has agreed to submit its report on Friday.

7. Pick the one word that gives the meaning of the following :
A large system consisting of many similar parts that are connected together.
(1) NETWORK {2) DISTRIBUTION
(3) COMPUTER (4) COMMUNICATION
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8. Identity the correct passive form of the following sentence from the options given below :
*We would have painted the walls green.’
(1) The walls would have been painted green by us.
(2)  The green walls would have been painted by us.
(3)  The walls in green would be painted by us.
: ‘(9—}’ The green walls will have been painted by us.

9. Pich the option that gives the correct indirect form of the following sentence :
Direct : The politician said, "It gives me great pleasure to be here, this morning.”
Indirect: |
(1)  The politician said that it gave him great pleasure to be there that morning.
(2)  The politician said it gives me great pleasure to be there that morning.

{3)  The politician said that it gave him great pleasure to be here this morning.
(4) The politician said it gives me great pleasure to be there this morning.

10.  The following sentence is in Direct Speech. Choose the correct option which expresses the same
sentence in Indirect Speech : )
The spectators said, “Bravo ! Well played, Sachin™. {
(1) The spectators called Sachin. bravo because he had played well. ;
‘9) The spectators said that Sacl}in has played well,
(3)  The spectators encouraged Sachin saying that he played well.
(4)  The spectators applauded Sachin saying that he had played well.

1. In the following question. there are six sentences of a paragraph marked S1, S6, P. Q. R. S. The
positions of S1 and 86 are fixed. You are required to choose the most logical sequence of the
sentences that form the paragraph :

S1: Proverbs contain homely but universal truths.

P: Some of them point out the incongruities of situations in life.

Q: Naturally, they are translatable from one language to another.

R Therefore. their appeal is direct to anyone.

S: Many of them had their birth in folk literature.

S6: They are everyman’s philosophy.

(1) QPRS (2) QSPR (3) PSRQ (4) SPQR

12.  Choose the correct option which expresses the following sentence in passive voice :
Do you imitate others ?
(1) Are others imitated by you ? (2)  Are others being imitated by you ?
(3)  Were others imitated by you ? {4)" Have others are imitated by you ?

(epc-Gst] | 3
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13.  In the following question, there are six sentences of a paragraph marked S1, $6,P, Q, R, S. The
positions of S1 and S6 are fixed. You are required to choose the most logical sequence of the
sentences that form the paragraph :

S1: There are divergent theories of education.

P:  There is still another which holds that education has to be considered rather in relation to
community than to the other.

Q: Yet, again some believe that a right proportion of all the theories should go into every
system. '

R:  The other holds that the purpose of education is to impart culture. _
S: The first considers that the sole purpose of education is to provide opportunities for

growth. :
$6 : No actual education proceeds wholly and completely on any one of the theories.
(I} PQRS (2) PQSR (3) RPQ (4) SQPR

Read the following passage and answer the questions (from 14 to 16) that follow : .

Insect behaviour generally appears to be explicable in terms of unconscious, inflexible stimulus-
response mechanisms. For instance, a female sphex wasp leaves her egg sealed in a burrow alongside a
paralyzed grasshopper, which her larvae can eat upon hatching. Before she deposits the grasshoppcr in
the burrow, she inspects the burrow; if the inspection reveals no problems, she drags the grasshopper
inside by its antennae. As thoughtful as this behaviour appears, it reveals its mechanistic character upon
interference. Darwin discovered that prior removal of the grasshopper’s antennae prevents the wasp
from depositing the grasshopper, even though the legs or ovipositor could also serve as handles.
Likewise, Fabre moved the grasshopper a few centimeters away from the burrow’s mouth while the
wasp was inside inspecting. The wasp returned the grasshopper to the edge of the burrow and then
began a new inspection. Fabre performed this disruptive maneuver forty times; the wasp’s response
never changed.

14.  The author mentions the work of Darwin and Fabre in order to
(1)  provide experimental evidence of the inflexibility of one kind of insect behaviour.
(2) contradict the conventional wisdom about “typical” wasj) behaviour.
3) illustrate the strength of the wasp’s maternal affection.

(4) explore the logical implications of the thesis articulated earlier.

PPC-GS1 4
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1. Which of the following statements is not true according to the passage ?

(1)  Darwin restrains the grasshopper while the wasp attempts to drag it by its antennae, which
subsequently break off.

(2)  Darwin releases the grasshopper but the wasp ignores it.
(3)  The wasp takes significant time to retrieve the grasshopper, then re-inspects the burrow.
(4)  The wasp instantly brings the grasshopper and moves into the burrow.

16. Tﬁe primary purpose of the passage is to
(1)  argue that insects are not unique in their dependence on rigid routines.
(2)  argue that insect behaviour relies on rigid routines which appear to be unconscious.
(3) analyze the maternal behaviour of wasps.
(4) compare and contrast the work of Darwin and Fabre.

17. Which of the following is the antonym of the underlined word in the sentence ‘1 made somc. !
success, and the students had a predilection for me.’ ? :
(1) Fondness (2) Inclination :
(3) Disinclination (4) Predisposition

18. Which of the following words is correctly spelt ?
(1)  Liason : (2) Irresistable
(3)  Fluorescent ' (4) Farenheit

19.  What is the best explanation of the expression “It’s raining cats and dogs” ?

It means that
(1) cats and dogs do not enjoy rain. (2) it can never rain cats and dogs
(3) cats and dogs enjoy the rain @) itis raining heavily

20.  Choose the correct option that conveys the same meaning as the underlined word in the following
sentence : '

Many cities were incinerated during the war.
(1) traumatized (2) burnt (3) shocked (4) prohibited

PPC-GS1 | 5
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21.  Consider the following statements

(A)  The number of ordered pairs of positive integers (m, n) such that m + n= 648 and g.c.d. of
(m.n)=27is8.

(B)  If the number v is of the form v = 48m + 39 for some positive integer m, then the remainder
when x is divided by 8 is 1.

Select the correct option among the following :

(1) Both (A) and (B) are true. ' 2) Only (A)is true.

(3) Only(B)istrue. (4) Both (A) and (B) are faise.

1808 (DSDT D KNoBoH ;

(A) m+n =l648 S8 K.z (m. n) =27 ©TDHEROT PSP T oS (E0ES0TeD (m,
n) © dopg 8.

(B) 2.8 &SFgroSo m o x=48m +39 &rdoS GoB x Q8 T arAn ST y3%0 1.
1808 2D oS HBIO oo :

(1) (A),(B)en Bodhr Hedgo Q) (A) Sresd dedg0

(3)  (B) S Hedgo (4) (A (B) & Bodr e0de$s0

22.  The radivs ‘1" of a circle and the side a of ‘a’ square are such that r: a=3 : 2/p. If s is the area of
the square then the area of the circle is

2.8 3B TGO 1. 2.8 DB h2o a en r:a =3 : 2\fp TR STy ow. & SHEH

BTOL0 s WONB 59 750
9 S
() 2s4p @ 7s (3) 2s @ 3
23. If3r=2y+5zand3y=4x+zthenx:y:z=
x=2y+ 5200w 3y =4 +zeoon@Bx:y:z=
M 17:13:11 9/23:1'“ (3) 11:13:17 @) 17:23:1

24, If 8% of 7% of 5% of x is 105 then the value of x in lakhs is
x GI0E) 5% Ty 7% Ty 8% TS 105 ©ond eI x e o

(y 3.75 @) 0.375 531/ 0.0375 4)  0.00375
1 ! 12
"l 4 Py
(M 036 @) 3.6 3) -3+55J: i 13+:130JZ
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26. The average age of a group of x students is 16 years. If m students each of age 15 years is added
to this group then the new average is 15.8 years. Then what percent of x is m ?

x OO JopPen fo 2.8 JSTETsY JT°N8 SAHD) 16 HDOSB 0%, & Do s

e} 2,585 15 Hoded yoren SODDX) m H0d JersPod BEIT (§& JoKO 15.8
H0SS Yo, NI xS m TS0 0 ?

(1 15 2) 20 3 25 4) 30

27.  The average height of 25 students out of 40 students in a class is 163 cm and the average height
. of the remaining students is 169 cm. Then the average height of the students in that class, in cm,

is
40 008 dergenier al SSKAS 25 :»oe. :)cs';@ej i D 163 0.80. HHBAH

AAOS oo Dt B 169 20.5. ©DIH & SSES S’ Derther Hied e,
0., o

(1) 164.75 (2) 16525 (3) 165.75 (4) 16625

28.  If a person purchases pens at the rate of 16 pens for ¥ 200 and sells them at the rate of 12 pens&fg:
¥ 160, then the profit/loss percent is -

8D 6%% profit (2) 13%% profit
2 1
3) 63% loss 4) 13'% loss

a8 358 200 Srrabesy 16 adYED TS §J 160 dra‘raSaoéo 12 DDYO THHS
OB, @3 /S TS0

(1) 63% 50 2) 13%% 30
(3) 6%% S0 4) 13%% SQ0o

29. The rate of income tax is reduced to 14%% from 19%. If a person’s taxable income is ¥ 3,20,000,

then the tax benefit, in rupees, is
BOahd D%y Ben 19% Hod 14%% 8 S0, 28 358 ey BOoSEY eEroHo

&> 3,20,000 & 0@ H&) S e, SrrcHS
(1) 14,400 () 1,440 (3) 16,000 (4) 1,600

| PPC-GS1 7
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30. 10 men and 15 women can complete a work in 6 days. 12 men and 27 women can complete the
same work in 4 days. Then the number of days required for 2 men and 12 women to complete the
same work is
28 5 10 08 HHeD, 15 508 |Ven 3O 6 T 330 Tohiedh. ©F HA 12
$08 HHe 27 H08 (Vew $OD 4 S’ o Tabied. @I oF JHIJ AP
HBen, 12 008 |New EDX 30 Tohards KT Fare Sopg
(n 12 2 10 3) 9 4 8

31, 4 men and 5 women in 6 days can earn ¥ 10,650 while 6 men and 4 women in 4 days can eam
% 8,200. Then the amount (in rupees) earned by 5 men and 10 women in 3 days, is

4 %% HSED HOCK 5 HE (e 6 FarS & 10,650 €0 HOTOT K. eeri 6 H
HHED 4 H5 (Vew 4 F2S & 8,200 &0 HOFOTLH. ©HIH 5§ H PBen
2805 10 5008 (Re 3 Fwrer HoSS Srarane

(1 8750 (2) 16,900 (3) 8,625 4) 16,225

32. Suppose some principal amount P is given at r % simple inte'mst'pcr annum for a period of 12
years to get an amount A. Match the following :
0 W1 P &0 D0SSIES0SE 1 % Sy SB8 AT 12 oSS o0 SDYS
&350 I0E0 ‘A’ ©HF0m0. 508 TR 2SDES0H.

List - I/ 23dwr - 1 List - I/ 28er - 1
(Amount) / (30$0) (A) (Rate of Interest) (5& Béx) (1)
i. 2P X %

i. %E b. 6&
iit. 3'22 c. 8%
iv. TP : d. 4%

The correct answer is / QO NXTTER) Jothsod

i i i v

(n ¢ d b a
B ¢ a b
3 ¢ d b
4 ¢ b d a

PPC-GSI 8
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33. The graph given below, shows the production of wheat in different years in millions of tons. The
percentage increase of production of wheat in the year 2017 over the year 2015 is

OHS ANYS By HO0S' IS HoBSITOS' FoH BB DOWMS oS’
Qo3 )&,

2015 H03350 &) 2017 % HoS$ )50 &eh B DHHGO TS0

_ 18t
%
3’ ]6J..
=
2
T 4t
=
-
£
a 121
2015 2016 2017 2018
Year (doss y50)
2 2 4 I ?
(1) 145 (2) 226 (3) 28 @ g I
34.  Ifthe number 6653A321 is divisible by 11 then A =
11 3 6653A321 2rR0HAS 0H A =
(1 1 @ o 3) 2 @) 4

35. P and Q started a business together with an initial investment in the ratio 3 : 2. P invested for 8
months but Q for less time. They shared their profits in the ratio 2 : 1. Then for how many
months did Q invest ?

P 805 Q £O% 3 : 2 DSBS’ DEPADE 28 TN TR [FEoDo>d. & Fgrsos
P, 8 S0 &od™ Q @0 0B S50 ADHAHO BT, TFOHHSH erererd 2 : |
D2IBS" oSBT, I Q DEPAAR FYFI0S FSINODS 500 AV Foen ?

(3 oy 4 3) 6 @ 7

36. 5 trains A. B, C, D, E respectively running with speeds 50 kmph, 45 kmph, 40 kmph, 35 kmph,
30 kmph have to travel 120 km. 105 km, 100 km, 85 km, 80 km to reach their destinations
respectively. Then the train that takes least time to reach its destination is
SEHM™ Koeodd 50 8.2, 45 8.20. 40 8.2, 35 8.2, 30 £.20. 5o HHRAS) 0 B
A, B, C, D, E &0 3¢3 i e SHEIIE SS5HIm 120 8.5, 105 8.5, 100 8.2, 85
8., 80 8.50. DASrBomrd. &8 BT I0 BHFIGTVE wdi0e SB0S DHAHO
A% Bew

n A (2) B 3) C @4 E

PPC-GS1 o 9
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37.  1f25% of x is equal to 15% of y as well as 10% of z then x iyiz=
¥ & 25%,y &' 15% & oz S* 10% ER8rSDB, x:y: z=
() 6:10:15 ) 3:5:15 (3) 12:10:15 4 6:10:5

38. By selling an article for ¥ 1,403, a trader gets a profit of 15%. The cost price of the article, in

rupees, is

2.8 SPD & 1,403 & @8 2.8 S85J8 15% erzo SN0, &8 IWY §3) T
Gryroheds .

(1) 1350 @) 1310 3) 1270 4 1220

39.  If the cost price of 24 pens is equal to the selling price of 20 pens of the same kind, then the
outcome of this transaction is

(1) 24% profit (2) 24% loss (3)  20% profit (4)  20% loss
24 200 §8) $6, o8 350 20 oy o 30285y BE8 JSrSDE, & erBHS* STHA
4% erPdo (2) 24% SPo (3) 20% erg¥o 4)  20% &Spo oSN

40. A person A, can complete a piece of work in x days and another person B requires 2x days to
finish the same work. If both work together they can finish the work in 14 days, then x =

28 DA A oF 358, x TS’ 50 Fobiteordh HBA 8 358 B A 2x S’ 50
TADAOR. A, B ed 2IS 5O ST e 59 14 828 50 T o) r =

(Iy 18 2 20 3) 21 4) 24

41 The following table gives the number of students who appeared and qualified in the Mathematics
Olympiad in the southemn states -

Appeared Qualified

Telangana 740 60

Andhra Pradesh 800 65

Karnataka 840 70

Kerala 700 55

Tamil Nadu 775 62 '
Then the state with the highest percentage of qualified candidates is
(1) Karnataka (2) Telangana (3) Kerala (4) Tamil Nadu _
BLETD T OS’ Kl 2.D0DATEE 20w, S8k PO ersPhe Homsd
& 1808 HPES’ aer %,
[ B0 S80S &

SBOOrs 740 ) 60

SO|NIDTF 800 65

{opl 840 70

8¢ 700 55

SaETch 775 62
I BS5E TS0 GBDeo0NS BSHen fe> oR0
(1) Sgrel (2) Seoomrs 3) s&¢ 4) SE%

10
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42.  Two numbers when divided by d leave respective remainders 4 and 3. If their sum is divided by d
the remainderis 1. thend =
Boch DoPso d & 2rfotmr SHIT Frew 4, 3 FToD. FETVEY) d & rfodr
ST 300 | ©od, ey d =
(n 7 (2) 6 3 3 (4)
. . 121 e . :
43.  In the decimal representation of 185 the digit in 1000™ decimal place is
121 5
185 08, &570% ErHoeS 1000 & $7°0F Frdo ' wos
6 () 5 3) 4 )
5 3 y
4. Ifa= e b =3 then match the following :
a=7.b=3 @S (808 T 2SHHES :
List -1 List - 1i
= Der -1 Do - 11
1 1 1744
% g% P. 238
o ] > 5"}
B. a~+b-= ==
Q1%
11 109
C. 7 == R 5
5t T 30
a b 109
D. b + a — S. 64
The correct answer is / OB QedIEade0
A B C D
() P S Q R
2 Q R S g
3) P R S Q
¢ Q S8 P R
45, 1f 397246 is divided by K the quotient is 865 and the remainder is 211 then K =

397246 & K & 2705 D25ESw 865, 330 211 SR e3¢0 K =
() 363 (2) 379 (3) 437 @

459

t

PPC-GS1
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46. Read the following statements :
a.  Biofertilizers synthesize nutrients from environment and soil.
b.  Deep litter is an example of concentrated organic manure.
c.  Application of potassium to crops enhances resistance towards dlsease causing pests.
Which of the above statements is/are correct ?
(1) aandb (2) bandc (3) aandc (4) bonly
& (508 (DSVT O HBS508B
8. A3 APHew, Ho7S80 HOAN Fo H0d FATOD S0t T aw.
b. SHS @ol g oSTaren oo il'o{_c‘.':ég 5B DOIB0/ES)S (organic)

Y.

C. NOLOVY LFEracho wodTobhdo SO FF sve & T8 IFSESs0
DO,

2 PSSTOS DA/DY HOTDSD ?

(1) adakob _ 2) bSOV ¢

(3) adHdckme (@) bIMS$DH

47.  Match the following food materials with the predominant organic acids they contain :

List-1 List - [}
(Food Material) ; (Predominant carboxylic acid)
a.  Apple fruit i.  Tartaric acid
b.  Spinach leaves il.  Ascorbic acid
¢.  Tamarind fruit iii. Malic acid
d.  Amla fruit iv. oxalic acid
1808 &8558 FTOD, oSS |DTS0MT B> §5)8 BOINOS 2SIEHHIY
aDer -1 Do -1
(B8 dSordo) (VTSP 57078108 essdo)

2. @S dod 5 i. &gosaedo

b. Foird L ed0)§ edo
c. Dosddodk il SrOEeo

d. addsad | iv. eydfeno
The correct answer is : / QOTDS NTGTS0 :

a b c d
W v i i
@ G0 v i

(3) i iii iv i
4) iii iv i i

PPC-GSI 12
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uj'k Indicate the alkaloid employed to control high blood pressure :

(1) Quinine (2) Caffeine

(3) Reserpine (4) Nicotine

@HZ B5FEND AAHOBOIETRE 4ITrNoT ey erandc HOoHSD.
(1) 8588 () DS

G) BHBYS ) JUREA

49. Light regulates the pattern of growth in plants. If a potted plant is placed in a window after few
days, it exhibits a bending towards the direction where sunlight is present during day. This
pattern of growth is called as :

(1) Phototropic movement (2) Phototactic movement
(3)  Photonastic movement (4) Photoperiodism

S08 K0 DHHS 88 Ao @N0B. HH08S" DHHSS)Y I 2.8 §e38S
DAS, ) Fxe Sovged 6 I HABPEL 850 GoB (DBI0 DR Soh
RS0, & SEOMT DEHETV) DDOEFS) ?

(1) S8 8HIES SOS0 QO 508 eHiSeso
(3) 508 80D VOS8O 4) 508 SO

50. Name the acid present in vinegar which is widely used as preservative in pickles :

(1) Acetic acid (2) Lactic acid (3}' Formic acid (4) Tartaric acid
H5)¢09 (Pickles) DS &odkerds BST 3 Q‘é‘g_@é‘ SO0 e300 DO ?

(¥ DE8E esadadn | ) | 88 e

(3) 0 s () &FoSedd

51. Kidney transplantation is the best solution for acute renal failure. The first kidney transplantation
was done in India at which of the following hospitals ?

(1) AIIMS, New Delhi (2) CMC, Vellore
(3) NIMS, Hyderabad (4) Jaslok Hospital, Mumbai

SISNOTED PO TAFANSIL, T3 Srd B TALEBO HOTS D8S). WoASrS
SBIOT S Hoare Sr8)A |odke & BAsTes 20A0 ?

(1) §469 Po.903%) Q) 3rS (2.D0.)
(?)/ PSS (Vo)) 4) 288 IS, SwoBd
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53 Maich the following :

List-1 List- 11
a.  Shrillness of Sound i.  Intensity
b.  Audible limit il.  Decibel
c.  Amplitude ' iii. 20 Hz-20000 Hz
d.  Unit of sound encrgy iv.  Pitch
(508 &3 2580 :

2Dor-| =Der-1

8. &89 §HASSw i S
b.  (#55 @36 P ii. 3IBS
¢ 50D DO 7 il 20308 - 20000 2GS
d 5338 dSresy iv. B
The correct answer is : SO DAPGTIO

a b ¢ d
(i iv i i
Q" v iii i ii
3 i ii iii iv
4 i i iv iii

53.  Assertion (A): When a carpet is beaten with a stick, dust comes out,

Reason (R):  Inertia isa property of matter that resists changes in its state of motion or rest.
The correct answer s : ‘

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A). .

(3)  (A) is correct but (R) is not correct.

(4} (A)isnot correct but (R) is correct.

DBDES (A): 28 $029 B HOS TSI S HOHOH SWOB,

58690 (R) : HS PBS” MR, Ao PBS’ MR P8y S S8 HAS* S0 )0
S33BEOTT U 23886 550 LOETED.

DO DSPESO : | .
(1)_(A) 5805 (R) Bodr SOTXD, SBkw (A) 50 (R) DO DSSe2.
(2)  (A) DO (R) Bodr HBTID, 52 (A) % (R) QO RIS 5.
() (A) DOJI, 5% (R) HOTPXIA s°¢%.
@) (A)DOPIB 5%, $°A (R) SOTID.

PPC-GSI1 14


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal24(7|

57.

The enérgy possessed by a body by virtue of motion is

(1) Potential energy (2) Kinetic energy

(3) Attractive energy (4) Gravitational energy
SRDeY LIODSD S5 FOT 48 A worS) ?

1) PB=4E (2) " #8e 38

(3 o5Q0is 4) HOe 558 48
The mirror used by a dentist is :

(1) Plane mirror (2) Convex mirror

(3) Concave mirror (4) ' Cylindrical mirror
508 B35 SITrHOT SE D

(n 5&&0 [nTe RN (2) Sooarsed &8 )edw
{3)/ BOTA R e R T RTAIN N (4) Prrsed S yes0

Biodegradable polymer among the following is

(1) Nylon 6 (2) Terylene
(3) '~ Nylon6, 6 (4) PHBV
800 TS ASEarES FODE B2

(1) Berss6 ‘ 2) 658

@) BerS6,6 @) DHSDHD

Mirage is the best example for which of the following phenom-enon ?
(1) Reflection (2) Refraction

(3) Total internal reflection (4) Multiple reflection
&3 (808 DIE0HOS’ DB J0BIFDE 2.8 H0D STTED ?

(1) oSG8 (2) Si85555m

(3) DoFT oS HTBLSA0 (@) 23V T IESS
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§8.  Which one of the following is used predominantly in making aeroplanes ?

(1) Duralumin (2) German Silver
(3) Gun metal (4) Invar
1806 >BS° BA (HESOr DErare SArdS’ &HTrad e ?
() &rgoreniS - (2) 3ES veosd
9) A0 Deod 4) adsh
59.  The bulbs used in green houses are made of :
(I) Neon (2) Nitrogen
(3) Xenon (4) Krypton
B feSos 8 ev)od FBS Saird S ?
1) dord 2 BS=S
P QS @) &S
@ The property of metals by which they can be beaten into thin sheets is called
(1) Malleability _ (2) Ductility
(3) Conductivity (4) Sonorous i’roperly
ST 58 Dewcsel Benm S38) S0 & DEOT 0.
(1 SrODadel (2) &§O
TErEes (4) FSER B80

61.  The gas used as fire extinguisher is :
(1) Carbon dioxide (2) Carbon monoxide

(3) Nitric oxide (4) Sulphur dioxide
i) SrdIomr 5T A 800 e3S HA 2

() s Bess)b (2 5°5)S Ira3HB
(3) eSS =88 @ 05 Besd

62. Due to its very low solubility in blood, which one of the following is mixed with 20% oxygen
and supplied to deep sea divers :

(1) nitrogen (2) helium

(3) hydrogen (4) argon _

8508 ©8 $503 (TSSahd 00 @Sy SE@om 808 8BS B 20% ebyu S8
50D DIVIEY SHOH IF) SSTE % ©odFE :

hH BS=S Q) SOHS

3 EaS @) oS
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63. Read the following statements :
a. Membrane bound nucleus is absent in cyanobacteria.
b.  Ribosomes are associated with photorespiration.
¢.  Nerve cells do not have the ability to regenerate
Which of the above statements is/are correct ?
(1) aandb (2) aandc (3) bandc (4) conly
EIIAY BN IR NS N ERTa VIV NIV
2. JOHS 2r§80srS’ ST £5)088 TS0 BoBK.
b. BEFDew 5708 F3HE0HS Hoodo §OR dotraw.
c. 8 oo DS ) edhs P50 GotD.
2 DISTOS DO/ HOTOIN ?
(" aHdako b (2) addalwe
(3) bddwe @) cSrSD

64. Read the following statements :
a.  Plants require zinc as micronutrient.
b.  Sunhemp is an example of green manure. i
@ The process in which one crop is followed by another crop on an agricultural field is called

* mixed cropping’.
. Which of the above statements is/are correct ?
(1) aandb (2) bandc
(3) aandc (4) conly
- 808 (5SS EDOD HEIJSW.

a.  30& o 28 &rf ) &N%0.
b. 2080 HDY TY JehBo 2.8 Gotrde.

c. 2800 a€ BEDS Hot i BRS S0 s BB SEPoS Dotdd ~rih BAHER)
‘DFD DOLY woer.

D IDSSTOS’ DA/DD HOTSD ?
(1) aSéakb (2) bHBAc
(3) aéaiwe . @) cSmS$D

65. A flower having calyx, corolla, androecium and gynoecium is called ‘complete flower. If any of
these whorls is missing, then such flower is regarded as ‘incomplete flower’. Identify from the
following an incomplete flower :

(1) Hibiscus (2) Datura (3) Papaya (4) Cotton

B8% HErd?d, il ISP, TN, wodsHo FOAS HAIVY Vo B30’
@OLTE. BT DIOONO GOSENS ©enI0e3 HaT)IV), ‘@I0F G D)0 wotrd. &
1808 &3 503G xRV Koo,

1)  Sood {%a:zé 3) &aryow 4) 2
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66. Which movement during freedom struggle came to a sudden end with the Chauri Chaura

incident ?
(1) Home Rule Agitation (2) Non-Co-operation Movement
(3)  Sait Satyagraha (4)  Quit India Movement
TO TS BoS50S 8018 HHE0STD O SCO$00 5H9) EPOA e oo ?
(1) D3B? &S0 (2 DD dorEBe5 S s800
() &) Jwgisro @/ 855 20805 &S00

67.  Dharmapala, the head of the famous Nalanda University during the period of the Guptas, hailed
from which of the following cities ?

(1) Benaras (2) Mathura
(3) Nasik (4) Kanchipuram :
hYe BT s00S IS (Herss Serod D ITSOATIE WAIAT HATHS
PERET JSHOVE BoBS ¢k ? E
() B> (2) DS
By o8 4) 500380
68.  Match the following ancient scientists with their works :
List-I (Ancient Scientists) List-II (Works)
a. Palakapya i. Brihatsamhita
b. Patanjali ii. Hastyayurveda
¢. Vagbhatta iii. Yogasutra
d. Varahamihira iv. Ashtanga Samgraha
808 BS54 13D T(IFS0D 56 SSSers 255805,
B Der-1 (DS w 5T Sen) Der-11 (BSSen)
a. deoswdg i 1S5S Hores
b. J$02d LN AT W T T
c. of 3 ili. &K S
d. Sosrerd iv. eaPol dolfde

The correct answer is : / OGS DIFETRO -
a b c d

M v i i i

@ i i i iy

@ & Ei v

@ i v i

| @ In which of the following movements, Annie Besant actively participated ?

(1) Non-Co-operation Movement (2) Salt Satyagraha

(3) Home Rule Agitation (4)  Quit India Movement
BODVOED (08 D #d5:50S° 81O Sooorr DT ?

(1) JSSFAH o85S g0 (2) &) Sarg o

(B) Fodrd a¥sd0 (4) 8565 0B &rdsso
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70.  Match the following dynasties with their capitals.

List-I (dynasties) List-II (Capitals)
a. Imad Shahis i Biiapur
b. Adil Shahis ‘ ii. Golconda
_¢. Barid Shahis - iii. Berar )
d. Qutub Shahis iv. Bidar
€. Nizam. Shahis v. Ahmadnagar

808 D aI0FeN 0 TZEHOS BSHEHIY.
aDor-1 (Soren) aDer-1l (u-am-&m)
2. ASrS rere i. Dzyb
b. @AS riren / i. fHod
c. 288 artren / iii. Hob

d. H&HS rired iv. DS
e. Q0 Taren V. @08 SKB

The correct answer is : QO DAPETRO :

a b < d €

@/iiii v i v

@ i v i v i
G) v i v i i
@ i v @i v i

71 Name the Chinese traveller who visited India during the period of Chandra Gupta I1.
(1) Huien Tsang (2) Itsing
(3) Fa Hien (4) LaPing
Bocds Soigh DI Fo 00 ardSETR) D0B0008 B ATBH0E S ?

(})/ POOWRE - hTely! (2 as)ofl

3) FOS @) e dof
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Who among the following was the founder of the Mohammadan Anglo Oriental College in
Aligarh ? ~

(1) Muhammad Ali Jinnah (2) Maulvi Chirag Al

(3)  Sir Syed Ahmed Khan (4) Mirza Ghulam Ahmed
©DHBS’ DHTSSS ol 5,80006:85 saie FRODIE DS ?
(D DS ed 2xr) () TOLDTH esd

‘(}), OB DS IS oS @) DT T S

73.

74,

Assertion (A) : After the Revolt of 1857 was put down, the British were particularly hard on the
Muslims. '

Reason (R) : The British came to the conclusion that the Great Revolt was led by Muslims and
that they were mainly responsible for it,

Correct answer is :

(1) Both A and R are true and R is the correct explanation for A.

(2) Both A and R are true, but R is not the correct explanation of A,

(3)  Ais true, but R is false,

(4) Ais false, but R is true. .

(DBJSS (A): 1857 Boiherend edd) IS Sorges D85 % SOPFOTT SN0
I EBSorr 1H3500086. '

$800 (R) : 8&harensS Sndoen TAES0 STOTED, FH SMSH (HES
SHHOD DD % APArDE 3.

RO SArerdo :

(1)~ (A) 2B (R) Bodir HOTRD, HOAH (A) § (R) DOToeS DS,

@ (A) S8 (R) Bockr 5O, 6k (A) 0 (R) DOT0S DI 5.

B)  (A)JOPSB, SV (R) SOTSG 57650,

@) (A) ODIB 5, 5D (R) HOTSA.

Name the Governor — General who for the first time introduced Civil Services in India.

(1) Warren Hastings (2) Lord Comwallis

(3) Lord Wellesley (4) Lord Dalhousie

2BSTI0OS' LIS HB5HB JodyRncses (ODFDES K381 23585 eSS 2
() 88 ohy 2 o8 sss od

G e§30d @) ofsTd
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75.  Which among the following animals was not represented in the Ashokan Pillar ?

(1) Horse (2) Bull
(3) Elephant @ Deer
&11808 DEYS) 20IHOS’ DA @FE FHoS' EIDOR ?
W ®go @ %

(3) D 4) 208

76.  Which Delhi Sultan was the first to participate in the celebrations of Holi Festival ?

(1) Ghiyasuddin Tughlaq (2) Mohammad Bin Tughlaq
(3) Firoz Shah Tughlaq (4) Mahmud Tughlaq
20 B0kl FhEes’ Sy T0sS A HE A5 ?

(1) AOLRNOS il Q) Vo6 -éf)cs g
(3) L > SIS (4) 508 S

77.  Who among the following does not belong to the Bhakti movement ?

(1) Sankaracharya (2) Ramanujacharya
(3) Vallabhacharya (4) Srikantacharya
1808 &0’ 458 &rhs008" Ho0gHW B DI ?

(1) H4ofoordy (2) oOraardarirds
3)  Seerords &y owerds

78. The famous Sanskrit scholar Max Muller who translated Vedas into English belonged to which

country by birth ?

(1) England (2) Germany

(3) France (4) United States of America

VO BOTAE @ HIAODS DV D0D29S HoBSEH S8 S0OE 235662 o BT Q8
ToAS e ? s

(1) =0roch /(2) 2620

3) S (4) e85 SocnE Traren
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Who among the following had started ‘Sharada Sadan’ a school for widows ?
(1) Kandukuri Veeresalingam (2) Pandita Rama Bai
(3) DK Karve (4)  Savitri Bai Phule

& 808 VS’ D09 2B TS HES D (D E0DODSTSS) ?

(1) So&&Erd HBEdoKo (2) Dol 837 eron
(:'i/)/ A8 535 @) VS o FS

80.  Arrange the following Dethi Sultanate dynasties in their chronological order :
a. Lodi b.  Khilji
c.  Slaves d. Tughlag

god &d WD S0T D e HOreT SOE0S’ a0 om.

a &8 b. £
@ c. VD d. &S

(1) ¢abd ) ebda

3 adb,ec ) d,cab

81.  Who among the following leaders raised the slogan ‘Inquilab Zindabad® 9
(I)  Chandra Sekhar Azad (2) Bhagat Singh

(3)  Subhash Chandra Bose - (4) Sukh Dev
‘B85S 2oord’ ©F dood) BITBS TADES D35 ?
(1) Soidips eszrs (2) 288 Mok

; 9)/ QTR BOSBD (4 P3IS

2
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. During whose reign, the Persian envoy Abdur Razak visited Vijayanagar empire ?

(1)  SriKrishna Deva Raya (2) DevaRayall

(3) Saluva Narasimha (4) Sadasiva Rayalu

HOCSr T oherd @PB SarE IS0 JOFOT SO DaHSES ra-@’va;émm
D080 ? :

‘9, a2 85:;‘063&: g (2) Bods BlorcSHen

(3)  AOS SEoT : (4) DS orodHen

83. Who was designated as Sadr-us-Sudur during Mughal administration ?

(1)  The chief of the army (2)  The chief letter writer ‘
(3) The chief civil judge (4) The seal keeper

Buene HOTOIS FEE 6D HES ©F ©BT8 A5G ?

(1) DB 2) asoren OvohH @A

9), DS IS a'so’ifaa’na @) TS Seavd

@ | Who among the following introduced the Dual government in Bengal ?

(1) Warren Hastings (2) Robert Clive
(3) Wellesley (4) Cornwallis
BorreneS' & 5085 5 DODSS (D34 DEJS T3S ?

1) 88 2rQoly . (2) o833
3) [ 4 =5 od»

85. Name the Delhi sultan who introduced the system of Suda (prostration) and Paibos (kissing the

feet of the monarch).

()  Ala-ud-din Khilji : (2) Muhammad-bin-Tughlaq

(3) Ibrahim Lodi (4) Ghias-ud-din Balban

S (ol Derddw) DR (c'aa’ DO QDG 508 JoDdorairerd
BDES B 2D S5 ?

@ oz adsSH 2) I8 DS S5

(3) =ero SA @  WOTNES 2re)S
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@ The new alluvium soil of the Gangetic Plain is called as :

(1) Tarai (2) Bhabar
(3) Bhangar (4) Khadar
forr DoSosS” §'¢ 2,010 Forso D& -

(1) Boaw ' @ b
3) aroks 4) s

87.  Which one of the following states has the highest concentration of laterite soils ?

(1)  Gujarat (2) Rajasthan

(3) Odisha By  Jammu & Kasheris

808 DY) oo’ ererdes Feen ©&5Q%0mr J085y80 TodS NP0 DA ?
W dacs Q) o=

(3) 8> (4) 2503 HOH TS

88. The Human Development Index (HDI) rank of India for the year 2016 and 2017 respectively as

per UNDP,
(1) 132and 133 (2) " 129 and 130
(3) 132 and 130 (49 131and 130

TESBH0 Ty SrSTDIYD oD HDY Tk (363 2016 SO 2017 HoSe Yook
S (C0.DS.B.2. & 50 :

(1) 132 6% 133 @) 129 S8k 130
3 132 580 130 (4) 131 580% 130

89.  Matatilla Project was built on which of the following rivers ?

(1) Mahanadi (2) Kosi
(3) Betwa (4) Damodar
DEBQ (TBP D 6D DB105AIS ?
—_—
(1) DI 2 5%
(3 Bexrg @) o3rss
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90. Identify the correct descending order of density of the population of below given states as per
2011 Census.

(1) Bihar, Kerala, West Bengal, U.P. (2) West Bengal, Bihar, Kerala, U.P.
(3) Bihar, Kerala, UP., West Bengal ~ (4) Bihar, West Bengal, Kerala, U.P.

1808 oS’ 2011 2T B (HTE0 BAT T 2T FoSSOD IETH
1830’ HBo%0A.

(1) DS, 8¢, H3)% Bord, GSEHTT
Q) 3235 Borrd, H, $6¢, adS1HT5
(B) DS, 8¢ ASEHTT, H3)% Bord
W DS, H3)% Borrd, T8¢, 4SS HTE

91.  Which state in India first introduced the Midday Meal Scheme for Government School children ?

(1) Maharashtra (2) Tamil Nadu

(3) Kerala (4) Andhra Pradesh

PESTE0S’ D o RS 1HSs FdTS IAF DV BdBr ey SBd
HPHESD (@rS0DODSA ? -
1) DR Oy S

3) ¥s¢ 4) o BHBT

@ Which one of the following is not included in the Right to Equality under the constitution ?

(1) Social equality ; (2) Abolition of titles
(3)  Abolition of untouchability (4) Economic equality
02508 [DSE0 DTS 55y TE0 S’ 2 iSn FAQ IO ?
(1)  IrBE Dadreded god0 2 DHe &
O woeodsssy 56 (4) o8 DITSS D
Which of the following district falls under Central Telangana Agro-climatic zone ?
(1) Khammam ~ (2) Kamareddy
(3) Vikarabad (4) Yadadri - Bhuvanagiri
1808 86" oS Borome SiS3H FSHB Hodewod' as) 2L DA ?
y o 2) s3r8
3) dsoard ; 4) orod - 2590
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94.  Which one of the following statements is correct ?
(1)  Bihar has 40 Lok Sabha constituencies.
(2)  Goa has one Lok Sabha constituency.
(3)  Madhya Pradesh has twenty eight Lok Sabha constituencies.
(4) Meghalaya has three Lok Sabha constituencies.
1808 |55030¢° HBTDSA D& 7
() D6 oSS S0z 508 ATras SPsnven S,
Q) A oRsnd o8 S'858 dBragsSsn S,
B)  DOIDHTT TS AESB WA 6025 D28 S Swen ONY
(9 DIrecdH o PSS Surdh SEDS dBrasE SESnen oo,

95.  Which one of the following is not correct statement with regard to Inter-State Council ?

(1)  It’s Chairman is Prime Minister.
(2)  Ali Chief Ministers are it’s members.
(3) It was constituted on the recommendation of Justice J .S. Verma Committee report.
(4)  Administrators of Union Territories not having Legislative Assembly are its members.
©OS0 TR HoBDE H0220H0D HOTN 1HEELS TS VA 2
(1) DS oIS HAE g8 .
@) ®) T F JupsSohen woS® Hebzen
() 230 BV, 357 5068 IS0 DEL 2 DT YENOWVOD.

W BR80Fen B Sos D [Sromres rersren BSPAVIION

96.  Match the period of the following governments with the number of Lok Sabha concerned :

List — I (Government) List — II (Lok Sabha)
a.  National Front i Tenth
b.  Janata Party ii. Ninth
¢.  United Front iii.  Sixth
d.  Congress Party iv.  Eleventh

(F08 (D296 550 S50 02O B0 SEH2S DOoPE BSHS SIS :
Do - 1 (1HHS g350) aDer-11 (3‘3 DY)

2. JAIS 1Hods L DBS o
b 238 > i SIS
c. OWIJE (HoS . @88 v
d. o >d iv.  HEToBS )

The correct answer is : HOTS DIFCTSO :
s a b c d

A diow i iy

@ i i i

G) i dii iv i

@ i v i
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97.  Match the following states with their Chief Minister as on 20* Feb, 2019 :

List — I (States) List — I (Chief Ministers)

a.  Uttarakhand i. Biplab Kumar Deb

b.  Himachal Pradesh il Trivendra Singh Rawat

c.  Tripura iii.  V.Narayana Swamy

d.  Puducherry iv. Jai Ram Thakur _
20 Feb, 2019 27¢38 ORS00 S095e00(S0erad 23DE S :

ardor -1 (ol eD) Do - 11 (S0P g0 doen)

a.  adogod i DIS 058 BS

b. 5SS (DBT ii. | 83oiz Dol oS8

c. |88 \iii. 2. DT°ODED LN

d.  HH3Hd iv. Zodosrd

The correct answer is : DO QAFEd0 :
a b c d

(0 @i @i i v

) ii i il v

3) ii i iv i

@i v 0 i

98. ‘Casting Vote’ to the Speaker of Lok Sabha is given in which Article of the Constitution ?

(1) Article 100 (2) Article 101 (3.) Article 102 (4) Article 103
SBHZ H)EB% ‘sRNOK S’ D00 Trariol eOEERSW :
(1) 100 ed850 () 101 3 5880
(3) 102 ehHid0 4) 103 S ©oH8820

99.  Which of the following statements are true ?
i.  The Indian Council Act, of 1909 introduced the principle of election for the first time.
ii.  The Government of India Act, 1919 gave separate electorates to Sikhs.
ili.  The Government of India Act, 1935 gave separate representation to Indian Christians.
iv.  The Indian Councils Act, 1892 decreased the functions of Legislative Council
808 IHSBSSWOS’ HOTSD D ?
i 28 OB SRS 1909 TSEBIOM™ V) ¥e> SIS0 1TSS,
il. & |D208 5 HEEM 1919 DI ORN DS AT e TEronoDID.
i, 2r3e 1H2HeS S 58S 1935 |ISQCHAEL DB (BRNLSD DI,
iv. 2rded oderen & 1892 0 H0HE DEHOMD SRODIE.
Choose the correct answer; / SOTOS 23372060 RIS : r
(1) iii&iv (2) ii&iii - (3) i&kiv @) idii&iv
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100. Which one of the following statements is not correct with regard to sources of revenue to
Municipalities ? '
(1)  Grants-in-aid from contingency fund of India.

(2)  Grants-in-aid from consolidated fund of India.

(3)  Taxes collected by Municipalities authorized by the State Legislature by law.

(4)  Taxes collected by state but are assigned to Municipality. _
808 58S Su rOer Deer/SSEe% BonododD QOD DSDIS50 TG A ?
(1) 278 ef0hs QO OB (Tods) as Jans.

(D) 2SS 85y D 0B PoeS) B8 Jons. ,

() TR TS I IS SoNEBOD, SO ekex SARren Tk Hedd ex.

@ TR0 IAred TS DY H0B SV OHOL TeranotBs.

101.  Consider the following statements about price index :
a. GDP (Gross Domestic Product) deflator measures the price level of a basket of consumer goods.
b. The Consumer Price Index (CPI) measures the overall price level of goods and services.
The correct answer is :
' (1) Both a and b are correct. (2) Bothaand b are not correct,
(3) aonlyis correct. (4) bonly is correct. :
58 &rd) (price index) § H020HOD (§0& BODS T IO HOOOS0A :
8 Qo BITIre) (Gross Domestic Product) 8365 DITIE 359 HSomrasre &8

F oA Feod,
b JITrh S Y& IO (Consumer Price Index) F&o S VSO S8 P
Feood.
- BN DArSOo ;
(1) aHoakn b Bodr SBSS. (2) a8 b Bodr JIBID 9.
()  adrSD IBISA. @) bSr$D HBXA.

102.  Who has the power to prescribe the number of judges in Supreme Court ?
(1)  President in consultation with Prime Minister
(2) - President in consultation with Chief Justice of India
(3)  Rajya Sabha by passing a law ’
(4)  Parliament by passing a law
(D0 FPS* G0 Bowsad Yo BAFTE0 JSOE Kercks 7
(1) 107 S0 d dodoyos ogoas
@) &3S DS cHsrd HoRddoes o HHAE
(B) TBOFH SQIW o so°
(4‘)//;3'93305950 S o gor

PPC-GS1 28
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103. The canon of equality taxation as proposed by Adam Smith, satisfies one of the following :
(1) Lumpsum tax (2) Regressive taxation
(3) Proportional taxation (4) Progressive taxation

AHS BODS T8 esdo 08 {9)3:3'50{.):6 DE Hreo (canon of equality) DI
Doesga HHWOH. ?

(1) 5 3nso Had) | 2) S D)
(3) BOVEY J0) @) HFrL H&

104. Read the following statements :
a.  National Food Security Act came into force with effect from Juty 5, 2013.

b. The Act gives legal entltlement to 50 percent of rural and 50 percent of the urban
population.

The correct answer is :

(1) aonly is correct. (2) bonly is correct.

(3) Bothaand b are correct. (4) Bothaand b are not correct.
808 &g tiesod :

8. ooh el HES &0 (National Food Security Act) 28, 5, 2013 &od "
©eNS'E D0,

b. &S FAS S&o e @rosos’ Ko 50 TS0 BT Hée |Frosos' Ke> 50
TS0 BTrH0 PDER0S FH0 (entitlement) o E N0 H.

DB DTG0 :
(1) adred IBS6 @) bIrSDH IBIS
(3) 25005 b HBID (4) 2805w b Bodr HBID S

105. In which of the following Five Year Plans, India’s growth rate of agriculture exceeded the

targeted growth rate ?

(1) Eighth Five Year Plan (2) Ninth Five Year Plan

(3) Tenth Five Year Plan (4) Eleventh Five Year Plan

&1 (808 BODS JHoVSY (DT RELS’ D Derds s rESTE S5 S0l Sy
Bew o DPPeS (targeted) SO Bew ) JH0ySM SITS0NOS ? i e
(1) QRS DOHSY (DeT V¥ (2) ENIBS DS (De ¥

(3) DB HoSE (Her P (4) DET0NS HOLsSY (DerPE
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107.

Under full capital account convertibility, if an economy does not perform well :
a.  There will be a massive capital outflows from the economy.

b.  There will be a massive capital inflow into the economy.

¢c. Few mdmdual investors lose, the country would gain.

d.  Few individual investors would bengfit, the country would lose.

Which of the above statements is/are u'ue?

(1) aandbonly (2) aandconly

(3) aanddonly (4) banddonly

DoF G SreddS eFodS S84 (Full Capital Account Convertibility) dreS) )k, ¥ e0¥
3555 HOTS DS 5 FAHAS'

a. ¥ &Q¥ 35839 20 578 IS0’ Sirerdsd $5D03 dotnod.

b. % &8 35595 476 Fndos Sarerdsdo $8D508.

¢. 508 Hobd $581e DepadTHen SHMm, T o-o@a 000,
d. 508 200 S8 DeYadardien rEEM, Fio SaFS08.

D TS’ DB/ IBSD ? |

(1) &S00k b SM$H @) 85000 ¢ SHSH

() aNdondSreSH (4) bSO d Sr(e$sdh

Compilation of General Agreement on Tariff and Trade (GATT) Uruguay round (Eighth round)
negotiations is popularly known as

(I)  Sutherland Proposals (2} Dunkel Proposals

(3)  Mike Moore proposal (4)  Oliver Long proposal

™S (235565 @anoes 683 0D ®ol |D&) G d:d)?i; 008 (QAWES To8)
BEH0 JoFOS0 S DOrr (S50 Kercss :

(!V JArdberod (Hdad @) &o3d warad
3) DErE (D= @) ©O35 erolf (DS
PPC-GS1] = 30
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108. Read the following statements :

a. M. Vishweshwarayya formulated a plan and published it in his book “The Planned
Economy of India” in 1934.

b.  Jayaprakash Narayan formulated ‘Sarvodaya Plan’ in 1950.

¢.  Sriman Narayan Agarwal formulated ‘The Gandhian Plan’ in 1945. -
d.  MN. Roy formulated ‘The People’s Plan’ in 1944,

Which of the statements is/are correct ?

(1) aandbonly (2) aandconly
(3) bandconly (4) aanddonly
808 g5 9SS0 ;

8. 0. D3OS 28 (DT PED Srrodod & PDEJS “The Planned Economy of
India” 1934 &' |HHOOTT. '

b. 2ODNSE TOADED ‘DB IS (DT VS & 1950 ' SrFrodoTTw.
¢ DS TToahe @fomsS ‘TodIHS DT dE & 1945 S' Srrodomrih.
d 080 ‘@RS P & 1944 S Srrodordy.

D TIDIOSVE/D HOTS ? .
(1) 20005 b Sr|S Q) 2 5B0kw ¢ TS
(3) b DOCI® ¢ S (Y aSHBctn d SR

109. What is the prime objectil\re of Special Economic Zones (SEZ) in India 7
(1) To enhance foreign investment and hassle free environment for exports.
(2) To encourage free capital inflows and hassle free environment for imports.
(3) To encourage startups for five years.
(4)  To provide employment for rural youth and encourage rural innovations.
B8850S’ (HB5E 60 oY, OGS DG AWes ?

(1) DBY 2eP2dY DOFOBOD DL T D BHded B SESSHD
£ 0. '

2) B Jrods SEO0HD EFEIF0D ) SHVED T OHHD FEIET)
£ yotvd.

(3) ®0%S JOPOL, P HOJS YT e Few | YorothHed.
(#) (e E0SS% eEgA HOTH IR SSEer IO (68 )2r0ed.
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110. From which Union Budget onwards, the classification of Plan and Non-Plan expenditures are
replaced with Capital and Revenue expenditures ?

(1)  2014-15 Union Budget (2) 2015-16 Union Budget
(3) 2016-17 Union Budget (4) 2017-18 Union Budget

OIS (DS 50 D 2FE 0D B P D PISS S5a8re) $Q88e FS0eS* Surerses,
O380s Sgairent Sy T (935 308 ?

(1) 2014-15 Sold 25 (2) 2015-16 So&S 23¢5
9) 2016-17 So(&S 25 (4)  2017-18 Sois 2365

111.  Fiscal Responsibility and Budget Management (FRBM) Review Committee, appointed by the
Government of India in 2016, submitted its report in Jan-2017. Which of the following
suggestions of this Committee is/are correct 7

2. To bring down the debt - GDP ratio to 40 percent by 2023,

b. 'fhe central government should target a fiscal deficit to .2.5 percent of GDP by 2023,
c. The centre should replace the existing FRBM Act, 2003 with a new law,

The correct answer is :

(1) aonly is correet. (2) aand b only are correct.

() bandc only are correct. (4) aandc oﬂly are correct.

PSS 50T 2016 S DHADoDBAS FRBM  (Fiscal Responsibility and Budget
Management) 50703 $0¢8 &5 DBSES BIS0, 2017 S H50030D3B. AKX D88
BSOS’ DO/ & 80§ ArcSdes SSom dBND 2

a. e —GDP JA)BD 2023 73638 40 T8 Shoche.
b. 2023 eS8 g0l (H20S 50 S 8% Sew ©F5D) GDP S 2.5 Feorr c‘oﬁ?gzﬁs Ead.
. Sol& (92050, 1HVS0 esSrenest &) FRBM Act, 2003 & 2.8 8¢ SHoS' 19D

TS BArd.
B DTG0 -
(D) adrSD J3BSA. | (EZ)/& OB b AP HTHD.
) bSoB0k ¢ ST S HBID. (4 2500w ¢ ST HBSD.
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@ Which of the following river/s is/are not a tributary of the river Krishna 2

(a) Panchganga (b) Malaprabha
(¢) Purna (d) Pravara
The correct answer is :
(1) (a)only (2) (c)only
(3) (c)and (d) only (4) (c)and (a)only
1208 8’ DB/ID LY FTooEy ADSS/ESDHIRED §° ?
@@ HosHol T ) o
© F¢ (@ 1058
DO BTN :
Or (@) Srs @) (@3S
(3)  (c) SO (d) SrSD 59, (c) 005D (a) Sy
113. Which one of the following is an Indian Satellite sensor ?
(1) LISS-TI 2 MSS
(3) LANDSAT (4) GeoEye
1808 &3S’ 2385 GHHET T8 B ?
(1) LISS-II (2) MSS
(3) LANDSAT ﬁ} Geo Eye
114. Consider the following ranges in Himalayas and find out the correct sequence from North to
South :
(a) Zaskar range (b) Pirpanjal range
(¢) Shivalik range (d) Ladakh range
. 80d &S ﬁ‘sﬁrow, &S50 Hod BE00 By JOPS SHS
(BS00eS’ Kr805yw. .
a. =55 38 b. DBHozS (3
i c. 3BTV ES d. o&8 38
‘ The correct answer is : / OO 235772 :
}. (1) d-a-b-c¢ (2) a-d-b-c¢
- b-d-c-a 4 b-c-a-d

115. Where is the headquarters of the East Central Railways located ?

| (1) Kolkata (2) Hajipur

(3) Allahabad (4) Bilaspur

' &% OIS DT $H TEY, HFS ST 5O0H0 ¥ &S A 7
(1 FSE& 2) 255
3) oolFwd 4 DD
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116. Read the following pairs about the ‘International Day of the Girl Child’ :
a.  The day is to be celebrated on : October 11
b.  The organisation which declared the day to be celebrated : UNESCO
The correct answer is :
(1) Both a and b are correct (2) Both a and b are not correct
(3) Only a is correct (4) Only b is correct
‘BEBRO BOSTAADH OSH )50’ K H00B0D 80 B SSS0A -
8.  SOSE)) 2HHHNT Fx eofB11
b. & OSSITR) BHHFTO DFAVoDS RO : STLE (UNESCO)
d

B DT ErES0
(1) 260 bBodr HOTBED 2) aXB0%HH b Bodr HOTHLSD 59
()  aSTSD HOTHIO (4),/b SPS HBPSS '
The following countries are the major importers of liquified petroleum gas (LPG) during 2018-19 :
a.  Japan b. India . China
Choose them in the descending order based on their quantity of imports :
(1) abandc (2) c,banda (3) b,aandc (4) c,aandb
B8 DIES'OD0 305 (LPG) &5 8§08 Baren (Derdomr Srbd TELOENT*Y0mM
a a5 b ds@io o Jor |
e OHDHO esgrdor TSR IS 1500 ©HE10H |
(1) abldowe (2 c, bt a
(3) b,addcwe (4) c,aNdbanb

118. Read the following statements about the ‘World Sustainable Development Summit 2019’ :
a.  The summit was held in February 2019 in New Delhi.
b. The theme of the 2019 summit was ‘Institutional Framework for Qustainable

Development’.
Choose the correct answer :
(1) Only ais correct ' (2) Only bis correct
(3) Both aand b are correct (4) Both aand b are not correct

DO PS D@ DX 2019 £ H02OHOD 80 5B RS0 :

a8 DGNID DS 2019 & s ADS’ DS 5ot

b ‘PS ©DIYR TEH HoFHS SO0 (DSS63)) 83O 2019 HSM) Ty HS.
DOTS DSFETR), NONETOHOS :
(1) adS&D BTpSA (2) b IFSTDH SOToE

(33/ a 00N b Bodr HOTDSD (4) 200N b BoMr HETSY 59

PPC-GS1 | 34
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119. As per the ‘World Employment and Social Outlook Trends 2019’ report published by the ILO in
February 2019, the global unemployment rate in 2018 was :

2502019 S ILO T 1HDBOBDAS ‘SEG JoF DO 908 FaS TeSen§ (Ro&)
2019’ DVOE P50, 2018 &' |HHO GG Bew o ?

(1) 5.6% Q) 5.0%
(3) 4.6% 4) 4.0%

120. Who among the following was honoured in February 2019 with the ‘Freedom of the city of
London’ award in recognition of contributing to promote bilateral relations ?

(1) Amarthya Sen (2) John i’auI Preston
(3) Noel Byrne (4) Sanjiv Chadha

‘@60 8D & D 6D ©0dS IPH D2SB 2019 S Ty Jovorred
|5 130N RE 80 TRS0HE e 808 78S dS508 HESo B ?

(I 82FS _ Q) =SS (DS
(3) Sond B35 (4) DoAS I

121. Read the following pairs :

Book Author

a. ChangingIndia  ~ :  Dr. Manmohan Singh
b. I Do What I Do : - Dr. Urjit Patel
The correct answer is :
(1) Both a and b are correct (2) Both a and b are not correct
(3) Only a is correct (4) Only bis correct
800 2SO &S0 :

Hd¥o (solfos’) ScSone
a. Tozof a0k : O, SIS VO
b. o S odm : at&@ga’o'é.né
DO B2 : '
e ‘2 508050 b Bodr HOTS 2) a8 bBodr JBTSD 5%
3) adPSD HOPIA (4) b AMSD HOPSS

e n e ———_
. iy
]

. S s
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122. Read the following statements about the Astronomical Society of India :
| -a.  Dr. G.C. Anupama became the first female president of Astronomicgl Society of India.
b.  She was elected to the post for the biennium 2019-21,
Choose the correct answer :
(1) Bothaandbarecorrect (2) Bothaand b are not correct
(3) Only ais correct (4) Onlyb is correct
2S5 i (R 8 HowoBOD 808 FIDIO® SBS0A ;
g 25 e D FE Bned SHrer s ar 2.9, D,

b.  2019-21 ZsoQ¥ (Both VOIS YT'®) 578 B8 B HTNT JobE S80d.

QO S DArTAR) DODE TAHod ;
(1) a S>8050 b Bodr HOToSD (2) a O b Bodr SOTIY 5%
(3) adTeD HOTRA (4) b AMSBD OISO

@ Read the folIoWing pairs :

a.  National Girl Child Day : 11* October
b.  Theme of the National Girl Child Day 2019 : Empowering Girls for a Brighter Tomorrow

Choose the correct answer :

(1) Only a is correct (2) Onlyb is correct
(3) Bothaandb are correct (4) Bothaand b are not correct
806 2800 SAS0h :

a IS 3E T o811

b. 2019 JIISE 68 BP T gy HD : DI ES08DS BHS T8 ardied
FOs080 Tohdo’

SOTS DIFTER), DONE TS
(D aSPSBD SOTIA (2) bAFSED HOTIA
Gy a SOOI b Bodr DO () 2B b Bodr HOPID %Y
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124. Assertion (A) : A disaster relief exercise, ‘Exercise Rahat’ was demonstrated in Rajasthan in
February 2019.

Reason (R) : Exercise Rahat was organised to synergise efforts for humanitarian assistance
and disaster relief operations.

The correct answer is :
| (1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A)is false, but (R) is true.

(DBIES (A) : ‘DEIBRT S5’ D DIW AHFDS 585 DEIBRE HSS 2019 &*
OB SS' (HE80S5a80.

820 (R) : JrdNdess DFOHO HOCH ANW AHFNS sEEeore  §FHo
(DB D DS JOH DEDTS ‘AENERF S E° A erotsadod.

OB dsdrgrdo :

(1) (A) 8k (R) Bodhr HSOTOSD, SOCKN (A) 50 (R) HOTN 386 80,

(2)  (A) D0 (R) Body ST, 5% (A) 30 (R) DTS DdBen ¢,

(3)  (A)QOPIY, 5 (R) SO 5.

@) (A) SOTRA K, $°R (R) DOTSA.

128. Read the following statements :
a.  Abhinandan Varthaman is the Indian Air Force (IAF) Air Commodore.
b.  Heis the first recipient of the ‘Bhagwan Mahavir Ahimsa Puraskar’.
¢.  The award carries a cash prize of ¥ 5 lakh.,
Which of the statements is/are not correct ?

(1) a,bandc (2) aandbonly
(3) bonly ' (4) aandconly
808 5O BSS308 :

8.  rSSaD BIrAE B¢ (IAF) Jond SIrEBM ©DI0SS STIrS HATYT .
b.  ‘BHS DIDE eirod HELED’ Indes (iidre S X
c. SoTd Herds &r 5 0Le SHE 2IVHAD WoOTE.

& TS HO A AN ?
(1) a8 bodkwc (2) aOcM b AreH
(p/ b Sr(e83d (4) adAW ¢ IS
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126. The government-funded health insurance scheme, the ‘Pradhan Mantri Jan Arogya Yojana® was
launched in September 2018 by the Prime Minister of India in :

(1) Gandhinagar () Varanasi
(3) Ranchi (4) Pune
(D20 § DT DB IESES DRI 28 8t Tresd’ e sy Dir HEeR)
AR08 2018 S* 578 (HH O DEydh | BoDoTS ?
() rodSKS @ 8T
(3) ood @) I3

127. Match the following central agencies with their Directors General :

‘Central Agencies Directors-General
a.  Border Security Force 1 Rajni Kant Mishra
b.  Council of Scientific and Industrial ii.  S.S. Deswal
Research (CSIR)
¢. Indo-Tibetan Border Police iii.  Jalaj Srivastava

iv.  Shekar C. Mande
8060 Fo& DoPOD ¢ BBED B8IES)E 28HES0D |

g0l Hod BoE5 2555
a. 55 o088 95, i 528 508 ¥
b TRoS H8ck JOFDE 385K il 5.5, 5S
04O (CSIR)
c. R0E-8BLS SYE FOD i, 20X 30D

iv. A8 C.XoB
Choose the correct pairs : / SOTS 2D JODE Tabod :
a b ¢
(1) i i i
(2) i v i
3) i iv i

(4V i i v

[a]  [®rcGsi 3
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128. Read the following statements about High Courts in India :

a. A separate High Court for the state of Andhra Pradesh was constituted by the President of
India with effect from January 1, 2019.

b. With the creation of this new High Court, India has 27 High Courts as on March 1, 2019,
Choose the correct answer :

(1) Both aand b are correct (2) Both a and b are not correct

(3) Only a is.correct (4) Only b i5 correct ;

arSSTHNY TEP () S T3ALFH0) £ HODOHOD 0B F eI BBI0A :

a. 2019 2850 1 od edHen @&agmmw a>rEeS ovtg.gé eso@fa@ﬁ—f U'L-il".%é DB

- FHSD o7y Tk ) -
b. & £ Y Jom)end réSEiosS’ 38y 1, 2019 o ¢38 E&néc@ _,_s-g'@m
CHo™) O,
ROPS NIFFTTR), JODE ToHod
(1) 2805 b Bodr HOTSD (2) aSOAD b Bokr HOTSD 5%
Sya ISP HDOTIE (4) b STSD KOO
129. Maich the following :
Award Awardee
a. Ashok Chakra (2019) i. Narendra Modi
b.  Camot Prize (2018) _ ii.  Pranab Mukherjee
¢.  Padma Bhushan (2019) ili.  Piyush Goyal
d.  First-ever Philip Kotler iv.  Nazir Ahmad Wani
Presidential Award v.  Sukhdev Singh Dhindsa
S08 3D 2858508 ¢
DB S0/03S @ iiirs
a.  ©38SE(2019) i i.  SBod Ird
b.  s0)é5 2 (2018) i, 195 Sopd
c. DA RIS (2019) AR FoHS
d  Ju3nded HOD 8'O5 o A8 S b
(AT YD S warf v. P8BS ot doary

Choose the correct answer : / SO DTG R, HODE TFHod :
a b c d .
O v i i
@ i i v v
B v i v i
w iv i v i
»
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130. India’s heaviest communication satellite GSAT-11 was launched successfully in December 2018

from :
(1) Sriharikota in AP ’ (2) French Guiana
(3) Devanagere in Karnataka (4) Hasan in Karnataka

2rESTES b ESTAS DTS BES -11 (GSAT-11) & &o5 2018 &* 0
Bres’ 258 Hod zsosor |FEodorrdd ?

(1) 3o, soldHET Sod 07 (208 Kok Sod

(3) odnd, §Tes Hod @) AN, ST od
Aero India 2019 was opened in
(1) Hyderabad (2) Chennai
(3) Bengaluru # Goa
28 20805 2019 I8¢ siodosadod ?
() TooTEs & Q) BHohs
(3) BoitrdHs @ s

132. The ‘Corruption Perceptions Index 2018’ of the Transparency International ranked India at
(1) 81 in 180 countries (2) 78 in 180 countries
(3) 79in 180 countries ~ (4) 80 in 178 countries ;
1€7%52000) R0&BYAIS (BOSTAD FESGES) O EERS aaggpes,) 20BE)
(DB eI JrdE) 2018’ & orESEEY 07505 Jos ?
" 180 Brod s Q) 180 Brods'Ts
(3) 180 Brod'79 . 4 178 Brod's0

@ Read the following pairs
a. 1* LAWASIA Human Rights Conference 2019 : New Delhi, India
b.  World Governments Summit : Hyderabad, India .
Choose the correct answer :

(1) Both aand b are correct (2) Both a and b are not correct
(3) Only ais correct (4) Only bis correct
806 2deD SSS08 :

. LAWASIA 37 SShe Bocsed 59388y : rsdd), arsesdio
b (DD Haher s ISR : RS, rEsT¥o

DOTS DSTTTR), VonE FoHad :
(1) aH0ckw b Bodkr HOTSD (2) a0 b Bodr HOTI 59
(3) aSrSD HOPIS @ b P& HOToIS
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138,
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Read the following statements :

a.  The Chairman of the Defence Research and Development Organisation (DRDO) is Dr. G.
Satheesh Reddy.

b.  Dr. G. Sathesh Reddy is the secretary of India’s Department of Defence R & D.

¢.  Oneof the winners of the 2019 Missile Systems Award’ is Dr. G. Satheesh Reddy.
The correct statements are : )

(1) aandbonly () bandconly

3) ﬁandconly = 4 abandc
808 S geraDd TS0B ;

a &8 818) 908 BIODDoS e8PBEAS (DRDO) $ Dr. G. H8% 35 T8S.

b, rOSTHEY S 818) ©08 BIODD0E (R & D) AXHDoSH o] 2085
BE LS.

e ‘2019 RIS VHD) v’ &5 $5590 wad) DESS Dr. G. HED ar,:o 2,88

DOPoS T gpgen :

(1) 2o b S (2) b HBAW ¢ Sriessd

(3)  aHBAkW ¢ SPeSD (4) ‘a,bodBS® ¢

Read the following statements about the Australian Open Tennis Men’s singles final match held
in 2019 :

a.  Novak Djokovic defeated Rafael Nadal in straight sets in the final singles title.
b.  Novak Djokovic won the men’s singles title for a record ninth time.

Choose the correct answer : )
(1) Only ais correct (2) Onlyb is correct
(3) Bothaand b are correct (4) Botha and b are not correct

2019 & 28808 ¢ POCHS LS PHIO BIYD DoAS) 3_)&:5 Sr5580 H020800
800 s HBS08

2. oNSE) RIS eSS’ BB S@ B SHD DOS' Fark SEDE LA,

b &(ROWDMS HHO VoAS) BESD Aendodd Saf €8 658 Frons
Feo S0 D & 3B Qo

DO DI, JoDE Tabod :
(1)  adMSD SOTIS (2) b SMSD JOTPID
(3) a0 bTOAT HOPID = (4) aHdAS b Bodkr DO 5%
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136. The number of triangles in the following figure is
&3 18085 A )8 D08 (B2harer Hops

1 o9 2y 11 9} 13 @ 15

137.  Observe the following sequence and find the missing term among the given options.

Lio% OIEST) HBIO0D), 2D IS BIVFDIESD 0D S'HoDS HIA) EHMS0A.
0,5,6.15, 24, S

(1 29 20 @ 39 @ 41

138. Observe the following sequence and find the missing term among the given options :
108 e9:DFITR) HODOD, ADIS DIVFDIESD 0D S'DODS HER) EOFS0S.

o

W
12, 24,

8, 60
() 23 @ 29 3) 31 4) 36
.[39. Select the cube among options (1), (2), (3), (4) that cannot be made by folding the following
unfolded cube :
OIS ADIS S DLA HTR), S DLABO 750" DS DRISTED (1), (2), (3), (4)
oS B :
(1 S ) 3) . @)
? (m]) 2 (m) O (ml: m/

. PPC-GS1 2
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140. Match the following : / 2€38c0a5m :

List - 1 (Sequence) List - 1I (Missing term)
e -1 @# 2Der - 11 (S'HoDS HeSSw)

0,7, 26,63, i 2

P, 95?? 4, 81, 50

i,
14, 20, 28. 38, /<iii. 121

PN
3840, 384, 48, 8, iv. 124

The correct answer is : / OB DTN :
a b c d

e g op

M ivoodii i i
@ v i i i
@) i v @i i

@) i v i ii

141. Read the following statements :
If the radius of base of a cylinder is 5 cm and its height is 6 cm then its
a.  Total surface area is 110 n sq.cm
b.  Curved surface area is 25 = sq.cm
c. Volume is 150 n cu.cm
The correct answer is :

(1) Then a and b are true (2) band c are true
(3) aandcare true (4) a,bandc are true
1808 |IDSIT D BHDBS0B :

28 R0 & TG0 5 V0., IR 6 0.5, ®wond o
a.  Doygde Frexso 110 1 5. 0.8,

b. SESe B0 25 1 5. 20.9).

C.  DSDBArDO 150 1 0. 0.5).

AOPS B3rd0
(1) adbanben dedgo (2) bSO ¢ e Nedgo
(3) a»HdiAW cen d$go (4) a,bOAW ¢ e Jebg0

142, Observe the following sequence and find the missing term among the given options.
1808 ©DESTR) HOD0D), BN IS DIVFD HESN 0D S*HoDS HrA) EHFS0A.
Do

5,6,6,8. 16,19, 57, 4,2

LA FAkaTE Y -
M 158 & R @ 121

3 9 @ 6l

e
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143. The length (in meters) of a rectangular canvas of 2 m width required to cover a conical tent of
base radius 14 meters and height 48 meters is (in meters)
2 D& Ihen) EOAS 2.8 HF SB0 SRS &r IS0 14 DO SHBCH S
48 &Y OAS 2.8 dJogn 6Fd ArEroR) EH)TRNE IOV SLH Ty, B
LGy
(1) 1100 2) 1060
(3) 960 (4) 880

144. The area of a field in the shape of a trapezium is 7200 square meters. If the length of one of the
parallel sides is 80 meters and the distance between the parallel sides is 60 meters, then the length
(in meters) of the other parallel side is
JH00 WD) BFEINS’ Gd) 2.8 Fosn TSy BTosD 7200 SS8 DK
JS8rodd hzswes’ 28 HBSD TBY so__gmcjp DOAM Ddrosd here S
S S50 60 S o, Boks DITr0SS gHzsdn ToE) G (erds’)
(1) 240 @) 200
3) 160 4) 150 .

In questions numbered 145 to 147 you find on the left two terms / group of letters which have a relation
between them. Fill the blank on the right with one of the options given so that the terms/group of letters
on the right have the same relation as the first two.

145 HoB 147 S8 o |DHOS BH BHS 28 Jowodo e éod:::cs'mf@id
RANTAHOD  WrBHD). T DoD0PO @OTERT HHA DS &) Doren/esid

RI0EAD0S’ &) IO AN DT Db 2.5T) JodE Fohos.

o i \‘)’
145, 49:121::169:
(1) 225 ' (2) 256
3) 289 (4) 324

146. LOSE :NRWJ:: GAIN:

(1) IDLP (2) HCLP
9,) IDMS (4) HCMS
P (.. X-
147, 9:343::12:
(1) 512 _ . () 1331
3 7129 _ (9, 1000

s
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Based on the information given in the Venn diagram below, answers questions 148 and 149 :
AHS AN IS VB0 DAPTTE0 GBSO 148, 149 D) O ISFETENS 0B

148.

149.

150.

151,

152.

C

9
dbq 5

8

A

GET IT ON
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The number of elements in the set (A N B') U (A' N C) is, where A' and B' denote the
complements of A and B respectively
HX3 (A N B) U (A' 1 C) S drose a’nom;, 'az‘.‘),)e.: A' HH8c%» B en S A
S0 B & Gho¥) 337 S8 Sned JrOrow.

(1) 16 (2) 20

(;} 21

The number of elements in the set A N (B C) is

a0 7 @2 8

Pick the odd thing :

(1) Goat (2) Hen
JDBFOIS HdoSod.

(1) AT ‘Q)/ g4

Choose the odd thing :
(1) Arithmetic Mean
{3) Mode
OO NHOo0A.
(1) oodNPio
(3) wiuso

DB AN (BUC) S Sarersted Hopg

3) 9

(3) Cow

@) e
(2) Variance

(4) Median

o7 130

@) HGyieso

@ 14

(ﬁ/lﬂ

(4) Horse

@)_ Hdo

A committee of 4 girls and 3 boys is to be selected out of 6 girls and 5 boys. The number of ways

of forming the committee if two particular boys refuse to be in the same committee is

&S O, DEHE 2rends S08 Seokd T OZeD, IS arends Ko e
QODETO. DBS' AFRODS BPH 2rendd 2.8 EWedeS B0oBerdE Do EBD), & ENedd

SOird TR T Do
() 150 (2) 135

(3) 120

4) 105

PPC-GS1
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Data Sufficiency :

In each of the following questions from 153 to 158, each question is followed by two statements labelled
I and II. You have to decide whether these statements answer the question given, Mark your option as
(1)  If the statement I alone answers the question.

(2)  If the statement II alone answers the question.

(3) Ifthe statements I and II together only answers the question

(4)  If the statements I and II together also can’t answer the question.

STOFDT e : .

B0 D) (DEren 153 Hod 155 S5% Ko (DS 1H¥) 1808 Bodk RDSSen I, I

B 5BD0NRA. B IS (D & DSSaren Barew ASfHoS, BE H9 dovomdy &rod,
(¥ SIPTRR) S 508

(1) (DII50 I SHSD HOHFS Q) SSrerdo (1) e,

(2)  1DSBS0 I SNSD HOFE D HIrETS0 (2) &,

() WISTen I I 050DHTrA0D ST SSrerdSs KOB & Srgrdo (3) ©d,

(4) DISTen I, I Botd ITA0D &rE DTS WSS BAS' & HSrerSo @) ®
HOoHSW. :

153. What is the average of a, band ¢ ?
L a, b and ¢ are in an arithmetic progression.
II.  a, band c are in a geometric progression.
a, b, c 0 DTV DO ?
. ab,cenad@odEssS aoyom.
. ab,cen2d e 3AS aamyow. \

154, Isa>b?
a>b e@yhor ?

1. a2 > b2
R PYPNTY

155. s the quadrilateral ABCD cyclic ?

We&)20 ABCD S|EchHsr ?
L AB is parallel to CD
CD 8 AB Haroesdo

IL. ABC + lADC = 180°

PPC-GS1 -
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156. In a certain coding process, the word TIGER is coded as TIJOW and the word BLIND is coded
as GQOND, then the code ‘fo\,;jhe word SWING 5]—“ the same code is
o m LAy 5 - i o et
28 8038 HEDS' TIGER ©F Hord) THOW, T 605 BLIND '@ ) GGOND
S 8 TR, 8 Ho8e HPAS swmt‘;’(%'c:-z)s oS0
M Swoyv (@ JQoyv
(3) JQONG (4) SWONV

157. P, Q, R, S, T are five persons sitting at a round table facing its centre. P sits between T and Q. S
sits at immediate left of R. If Q sits between P and S, then the person sitting immediate left to T
is
@ONHED S580en P, Q, R, S, T en 2.8 K10(&D 208 0ey° So(mD3wgrorr S yamy &.
T S0C) Q © NGs P SrdH)me) . R § S50 JB:00%; S §rdym . P LH8ckn
S © 55 Q HOD &P T 50 S0 BTy B9 558

P (2) Q
3 R @ S

158. 40 boys are seated in 40 chairs arranged in a row. Ravi is seated in the 8th chair from left. Raju is

seated in the 19t chair from the right. Ram is seated exactly in the middle chair between Ravi
and Raju. Then from left the number of the chair that Ram is sitting, is

2.8 383" ©58)% 40 808" 40 2renth S )T, IS (D8 o0d 8 S B8
8 S8 )T 0. $o (D8 Sod 19 S H8)D Tz STy . 8, Taren SrdS)
58 0% IS0 s IR T S ITTLE. ©HIB IS D0 0B oo
Eord0 ) $08) Howg )

W 15 @ 16

3) 17 S @) 18

{1

159.  If A is son of husband of daughter of husband of B, then B is A’s

(1)  Grandfather (2) Grandmother
. (3)  Great grandfather (4)  Great grandmother
: B 33w8) 250 ) §rend Ty B8 SanE) oS, A wond B e 55§ A By
; (1) = L2 O80T
(3) e @ oS

160. In a code language SMILE is written as UKKJG. Then in the same code language FRUIT is

coded as '

28 0% 270 SMILE Q UKKIG m |5°7°%). @33 8 5086 27as® FRUIT 55708
QSosso :

(1) HKVHW @ HPWGY

(3) GRIUW (4) FLWKV

- [a] | &
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161. Read the following statements :
a.  Values do not guide us to live ethically.
b.  Good values help us in feeling at peace from within.
¢.  Values and beliefs do not have any bearing on our attitudes.
d.  Values guide us to take the right directions and act appropriately.
Which of the above statement(s) is/are correct ?
(1) abandc . (2) bandc
(3) candd (4) bandd
&3 18080 55O D0 :
a.  TBZor 285308 DendSen SrddsEo sR5Y).
b.  HOD DenSen 0SSPSO (DF0SOTT GOBErdE HIH HF*AH JdErow.
C. . DI, 557N S BPEIL A NS0 (H2FI0 BIDS.
d S0 HOTS Srgren, tSsen SNESBOS DenSen SrGSSEOT Gotrow.
S WS D T DOTSD?
(1) ab&dSwe () b SBasw ¢
(B) ¢SOk d () b2odoko d

162. Read the following statements :
a. Opennessisa desirable virtue in professionals.
b.  One can take unfair advantage of the situation in work place.
¢.  One should develop a sense of belongingness with the organization where he/she works.
d.  One should avoid situations that might lead to conflicts.
Which of the above statements are ethically correct ?
() aandc (2) acandd
(3) bandd (4) abandc
&8 1800 55D TIEDYW

&E5H0S DTe B9¥)H0 OFO SHONS Heo.

b. a8 P00S’ HOPHOD JIHNTWraso §Ho M ebsroor d HEBS T
S0 Y ST,

c. DI DATR V0P IreSE BV, DOFOHORETD.
d  RoNGDOKH TOSD HOPSHO HOd $BIOHETS.

D BI) ) TsRseD SOTSD ?
(1) a0 ¢ () a ¢ 0005 d
(3) b0 d (4) 2, bSO ¢
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@ Who among the following National Leaders opined that women should be treated equally and
should get equal remuneration for equal work ?

(1) Bal Gangadhara Tilak (2) LalaLajpat Rai

(3) Mahatma Gandhi (4) Motilal Nehru

Rew _Ddrdoenr  HdisodaaT O, Fos SF DTS @890&) OO
oDrOSG wé@_a:@_éoéb & 1800 FOS' D5& 7

(1) 2zro Sorrdd 8o’ | Q) ereo ozde oD
(3) oDk rod ' @ Iraerd JoTv

164, In India, women, particularly lower class and lower caste, have been suffering due to many
reasons because “women’s problems” are not treated as

(1) “Family problems” (2) “Political party problems™

(3) “Societal problems” (4) “Nature problems”

ro88308 |Dew, ST IHEBS HeroB HOCH DE HEN0TOR TodI
T8 88 B0 SBETe SO SaFen HHSITYH. oD, (VO DX (§od BS
) DX HOKSoISBSD B.

(1) “Hoeno HoHgenr” 2) “ozfab > Sodgenm”
3)  “DIrzsSw Ty DDJLENT”  (4)  “DHEHS SHdgenrr”

165. Who made this statement, “One is not born, but rather becomes a woman” ?
(1) Simone de Beauvoir ) B.R. Ambedkar
(3) John Keats (4) Flora Nwapa
“8) 2,885 238538 20058); (Kadhe |2 m SrB&0 (One is not born, but rather becormes
a woman) 9 9563;'—55}?;.‘{)05'63“ ?
(1) IS & 2B Q2) Db @070
3) =S85, W go Bt

166. Who among the following is reported to have said : “The country and that nation which did not
respect women have never become great nor will ever in future™ ?

(1) Swami Vivekananda (2) Saint Paul
(3) George Bush (4) Sarvepalli Radhakrishnan
1808 55D DS 6?0«6&»:1- BHIDBIO ?

0 Bisw M), D By (DB MR HFFOL FEJoS BE, 6 BIsw ;J.:-,)eSé 5
B350 57, R,

1) s D380 ) ?\:ondes >S5
(3) =@ - ‘@) 38520 ocriiws
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167. Read the following statements :
a.  Tribals are very commonly referred to as “Adivasis”.
b.  M.K. Gandhiji popularized the word “Girijans”.
¢.  Tribes are also known as “Dalits” in India.

d.  International Labour Organization (ILO) used the expression “Indigenous people” to refer
to upper castes,

Which of the above statement(s) is/are correct ?

(1) b,candd (2) abandd
(3) aandb (4) aandd
&8 |1800 T O t9BS50B :

2.  NBEDHOD FETBROMT “adTR” D DT .
b. M. . o “AOBS” ©F HR) IR (D cHE50) Frd.
c.  FESTHOS NoaSo® BT Srar D oLrd.

d.  ®OSTRAH (FWE H0P @.0052) GS) S 00 T BLOSoBTVE Sre>
T (BIoHT0eD) BT HTR) T,

DOP Srgy(en) :
(1) b,cooaswd (2) a, bSO
(3) ad™b (4) andand

168, Who is remembered as the person who started Telangana Armed Struggle between 1946 and

1951 2

(1) Shanthi Soundarajan (2) Chityala Ailamma

(3) Varala Pochamma (4) Devaki Yashoda

1946 — 1951 G55 BOOMEr JANE H*T"0 |FB0HOD® S48 IS8R oS HE
REPHoerdH ? |

(1) 708 dodoad L) Derse 080

(B) TT© FS 4) B on3s

50
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169. Reservations as per 73" and 74" Constitutional Amendment have facilitated
(1) Women's appointments in all top positions
(2) Women entering Gram Panchayats and Municipalities
(3)  Establishing small shops by many women
(4) Increasing women labour in Agriculture
2378¢b Trersols éqgoé‘ 73 8,74 & D38 O 50° & 8000 rSIRIO.
(1) o) &Sy S Tros SIrdo Ao,
oy Ln‘émom'anée.n, HEFoF dodred’ KHiree Lcﬁ«‘jo
(3) ©ToHNod Qe DS oseEren [rEoDotd0.
(@) SgSrah SotioeS Sndrer Srde Hosd o0,

@ Sampurnanand Committee (1961) suggested Reorganization of curriculum at various levels —
Primary, Secondary, College and University level to promote

(1) Language skills (2) Employment

(3) Good impression (4) National Integration

HoFTSos $e3 (1961) HrdodS RO, 0IH0, sTE DO oﬁ:r&)b,neﬁ
@‘cmoci‘ DTHOTED D 2358 5535888 Tahero S’V GTISW :

(D mmms«m L2) a>rd

(3)  OD DD DS (@) 20 dH|Hed

171. India’s National Anthem is an expression of
(1) Unity of India
(2) the integration of rivers
(3) diversity in the implementation of rules
(4) Geographical Description
ESTE 2rS0H Ao & orard) S58560HS0D ;
e
N arssBEo gy S¥sS
2) S0 ONIOTRO
(3)  QoSHOD e ﬁdiaeaoeﬁ‘ ;aqs;o
(4)  THVE SRS

172. Who argued that Dalits were Mool Bharatis (Original inhabitants of India) and builders of the
Harappan civilization ?

(1)  B. Shyam Sunder (2) A. Yellaiah Goud

(3) C.Jagannatham (4) M. Krishnaiah

Sdeen Jre rdeciven @d), IJ'CS:)‘_) THOESS ErFOBONS FEY K
TEODIE DD ?

(1) D. 750 Dodb 2) 2. 0008 T5

(3) . 2T P 4) Q. (ERODS
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@ Match the following Environment Movements in India with their objectives :

List-A  ListB
a. Chipko Movement i. Itis a fight against establishing 2 Hundred Mega Watt
Thermal Power Project in Nadikoor village near
Mangalare,
b. Narmada Bachao ii. _Struggle against deforestation in 1973 at Mandal
Andolan Village, Chemeli District, U.P.

¢ Baliyapal Movement iii. It was against taking over of the thickly populated land
for testing missiles.

d. Protest against Cogentrix iv. It was led by Baba Amte and Medha Patkar.

company
T SBTI0S" BONS & 1308 HTISBR ASEIrOD S By AFTOS 2855108
arDer-A ader B
a. ODE adgeho,_ i, oA SES S0oErE rosS’ S0 DoradS
SRS DIB | >BE FISH  S8B%om
BHI28S Fowo.
b Mo oS wo8ES it adiHBTS’ SO 2SR Hode ros
®0d Moo Si8dlor 1973 S 2888
Sforddo.

c. 28OS adsdo ill. SPDS wAHOD Elmesy HBLokerde
' SGITWrNOLHL0R S3BBEomr THS &rdige0.

d. sASEE) LoD iv. DPBHD DO DFERd & G
SsBBEOr ABHS SA>E.

The correct answer is : QO DAFETI0
a b c d

(ﬁ< it iv i i

@ i i v i

G i v i @

@ i v i i
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174. Who is the author of the book, “Emotional Intelligence : Why it Can Matter More Than 1Q” ?

(1)  George Mayer (2) Guilford
(3) Daniel Goleman (4) Spearman

“oar0) S 2083OBS): B wd 35 Db 3?5 TS 08rg” T JOF Scdoned d3% ?
() 2§ Db Q) 6S59f

3) BAHS FSHS @) YOHERS

Who among the following quoted this statement : “It is not the strongest of the species that
survives, or the most intelligent, but the one most responsive/adaptive to change” 7

{1) Ronald Coase (2) M.A.Levy
(3) Charles Darwin 4) .Jolm Miller

& 12808 TBS' IS & FIWLHD TAW. “AIBB SIS DB )oY T/BoTEn
JB%8 08 SMSD HDIBEOD, BoBTY RS ©diod OPS ST B
8OBS >F . "2

() BoPsD 2) 908D
3) o3RO 4) 2 Rb

176. American Sociologist P.A. Sorokin distinguishes between two typs of social mobility. They are :
(1)  Equal Social Mobility and Cultural Social Mobility.
(2) Developed Social Mobility and Underdeveloped Social Mobility.
(3) Vertical Social Mobility and Horizontal Social Mobility.
(4)  Parallel Social Mobility and Rectangular Social Mobility.

9.0, FTES T oDOES Forad 3¢ Toh 857e Froans LoTrwd HB0TH. ©d D
PO '

(1) DIFS FoWE HDOS0, oS E Aot Lhexdo.

(2) EVODD oE D0, DENONA Ao Sedo.

(3) Qe O oS I0N0, § 8B JSroSEorr GO Froens SO0,
4) DIrosd Fohns S0, HPNSHED exdo.
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177.

178,

What are the six universal emotions ?

(1) painting, dancing, singing, drawing, writing and teaching
(2)  anger, happiness, surprise, sadness, disgust and fear
(3)  hunger. love, hate, contentment, powerless and powerful

(4)  greediness, jealousy, astonishment, enthusiasm, disinterest and courage

68 DB 5 TS TS T MeD O ?

() owoedof, T7e50 Soho, FGeso, ST, T°oHE0, 553,
ﬂ( §0, VoS0, e3)850, TS0, DS, 20%0.

(B) B3O, (o, 150 HoBy, 38 B, 8508,

(4) oBE, irad, 83 550, GErITo, @0, BEssw.

Read the following statements :

(a) 1 get severely offended when people criticize my actions.

(b)  Ihave inferiority complex and no belief in myself,

(¢) lam very sensitive in nature.

(d)  1can continue to do what I believe in even under severe criticism.

Which of the above statements is/are related to having ‘Emotional Intelligence® ?

(1) (a)only
(3) (c)and(d)
& 1808 5D BSS08

(@) FSHD T BE5OR DeB0DI I T Trer S|S0 2rSHS .
(b)  TE BB TIIT 27D GOI0 SO, T DS T 580 B,

(2) (a)and (b)
(4) (d)only

(€) QIS I Ter DRSO B0ErD.
(d) ®$508 JNTYHEDS HOPHE’ Srar T ST Twdootar Sea,

GET IT ON
Google Play

DS BOIS TepsoS’ JO/MD ST 19 §8) 0%erd8 Ho00BIS/

D0220H0BID ?

(1) (a) S&3d
()  (c) Bk (d)

(2) (a) 3% (b)
@) (d) S D

2 |
.
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179. “Ignorance of what is the correct thing to do in a given situation” is generally referred to as :
(1) Humility (2) Uncompromising nature

(3) Stubbornness (4) Moral Dilemma

B0 224 HAD $BS 8AS’ er TAHEIr BOHEF L0 & 1808 SIS 6 ?

(1) DS (2) TBHB e g5
(3) ToBSIZN (@) DR oA

180. Match the words in List — A with their definitions given in List - B.

List-A List-B
a. Competition i. It works on the basis of collective wisdom.
b. Accountability ii. It disintegrates the work force.
c. Adaptability iii. Living at the same time.
d. Co-operation iv. A finished product which is objectively verifiable.

v. Changing myself to suit new environments and needs.

2rDer - A S’ Horo rder - B S 955088 DB LSIS00E 28H8)048.

2 Dor-A Do -B
a. ored i TS 30 BErEOT HATDHA.
b. Faracddso i ¥ 357 Y20 BYO&.
c. H3Zd i, 28 dochosS’ #Dosero.
d. dFrsdo iv. QA rsor HOOoBTE 530 TAHAAS &red )8,
i V. I8¢ omSSardf HOAN eSHrre edHiroorr
S50 B Srs'Ne0.

The correct answer is : DOQA IGO0 :
a b ¢ d

] _ i v iii i

@ i ivoovo i

3) i i iii v

= 4) i iv v i
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181. Which among the following land tenure was introduced by Salar Jung—17?

(1) Sarbasta (2) Shikimdari

(3) Watandari (4) ljara

& 1808 T8S’ Ferb B0F (DIFTDES 200 Tew HPB A ?
(1) &Barys ) 2&ood

(3) SSSed @ =F e

182. By what name the High Court was called during the Asaf Jahi period ?

(1) Majlis-i-Murafa (2) Buzung

(3) Mahakama-i-Sadar (4) Diwan-i-Adalat
©OD p2re) 500S G FEOVFTIT R, DR DOTFD ?
(1) SHBR-2-08a) 2) aroh

3)  DTED-2-000 }9:) OTS-Z- VTS

183. When the Indian Army entered Hyderabad under Majdr General. J.N. Choudhary in September
1948, who among the following was the General Officer commanding of Southern command ?

(1) Lieutenant General Maharaj Singh  (2) Major General Rudra

(3) Lieutenant General Rajendra Singh  (4) Agent General K.M. Munshi

1948 2NOES' Db 2358 BTN Trovissod rs I IETersS
HIF0DSD Y, &3 (808 DFS) TOS' 8.0 28 557055 238S ehIE SSsrodoh
DB ? il

(1) BPTo BI8S o Vol (2) Doad 2888 HIS

(3) ORToS 2386 oo VOl (4) B0 BIES B.0. Y

184. The warrior who tried to liberate Telangana from the Mughal rule after the defeat of Golconda by
making Khilaspur as the centre of activities was :

(1) Rustum dil Khan (2) Sarvai Papanna

(3) Addanki Rajanna (4) Soma Gauda

FeH08 LA0SDAS S sd Derdiybd &8 sEsESrosy, Toor TER
BOOMETE BNHT0NO S OB D TOHEE H0HEBY0ND T VB ?
(1) SHo &S S (9/ ST o0 FDSY,

3) Qo8 Trad) 4) DTS

PPC-GS1 56



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ikl

185. Assertion (A) : The relationship of the students and the Telangana agitation has been inseparable.

Reason (R) : On 28 November 2009, the police officials reached North Telangana Bhavan in
Karimnagar to arrest K.C.R. '

The correct answer is :

(1) Both A and R are true and R is the correct explanation of A.

(2) Both A and R are true, but R is not the ;:onect explanation of A.

(3) Astrue, but R is false.

{(4) Ais false, but R is true.

DEISS (A): Dorsdhen - BOOTE 350 JLRIET DSANBID.

5*5e90 (R) : 2009 SS02E, 28 S BAS FOH ©HTD TD. 6. H &0 FoHFIZ
560588 S &HE Beromes HITIE THTB.

HOTS SSrTS0 :

(1) (A) 5805 (R) BOEF HOTDSD, HOAD (R) &0 (A) HOTS DSSea.

2 (A) 2B (R) Bodr HOTXD, SHOAH (R) & (A) HOTS DeS8ea 5.
B)  (A) HOBID, 5D (R) HOTIA 5°¢%.

(4)  (A) DOTHID 5%, 5 (R) DO,

186. After Operation Polo, Hyderabad armies surrendered to the Indian Union on 17 September, 1948.
Who among the following was the Chief of Nizam’s forces at that time ?

(1) General JN. Choudhuri (2) Osman Ali Khan

(3) El Edroos (4) Philip M. Taylor

8IBAS FS Som e AT RS0 17 DROE 1948 & 275 D8 SONF NS
HADoS’ Vero R & (808 DEYS) TOS” T ADES S0 SODSTSE ?

(1) 2868 BIK. TS0 Q) G ud S

3y .0 . 4 9HOR. do. b

187. 'Who among the following was not connected with Telangana peasants armed struggle ?

(1)  Arutla Ramacandra Reddy (2) Chandra Rajeswara Rao

(3) Konda Venkat Ranga Reddy (4) Devulapalli Venkateswara Rao
1808 8¢5’ Berorr Berols OGS HForI0S’ HoOBSD B B ?
(1) o8 oo B Q) Solt ToBF S oy

8 - Foar Jokerdorr BG @) BHoHd) JosBr¥80%9
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188. As there was a great demand from the Legislative Assembly of Telangana region for the
implementation of G.O. 610, the government under Chief Minister Chandra Babu Naidu
appointed a commission in 2001, What was this commission known as ?

(1)  Justice Bhargava Commission (2) J.P.L.Gwin Commission
(3) Girglani Commission (4) K. Achyut Reddy Commission

FRINES’ Boorad TodS Mo B|S FOEDHSH 2.4. To. 610 @HeD DACHOD
2001S" ©D)e3 S0g50olS Holderen TP 28 DASD IAHDoTH, & EHasS

DO ?

(1) 290 23S LoaS (2) BD.ISE.ALS ENAS
3) 65T ZAS (4) 3 etiS BY EaAS
v

189. In April 1969 the government appointed a committee to make suitable recommendations for
constitutional amendments to continue Mulki rules. Who was the Chairman of that committee ?

(1) Pingali Jaganmohan Reddy (2) Kumar Lalith
(3) G.N. Waghre (4) K.N. Wanchoo

1969 DS & SO J0LHS EITHFIE St Targon DIBLOD  PIH®
TAHErOED 1H20e 50 2.8 DD ACHONOA. e ¥ed eossE BIS ?

(1) Soi® 288 IS B 2) Hrb5odS
3) BAST I 4) B8 Totd

190. Who among the following Telangana leaders undertook Satyagraha at Jantar Mantar in Delhi in

20127
(1) K. Chandra Sekhar Rao (2) Kishan Reddy
(3) Konda Laxman Bapuji (4) Kodanda Ram

2012 & O &' 2088 206 3¢ HEryKro THBS BOOMrH TADEE DI3E 7
(1) 3. So3d o) 2) 8353
(3) Somrel s avys (j) §'S0d oo
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i 191.  Assertion (A) : The seeds of the Telangana movement were sown at the time of the formation of

Andhara Pradesh in 1956 itself.

Reason (R) : The .politica! domination of Andhra ruling class gradually reduced the people of
Telangana to passive recipients.

The correct answer is

(1) Both A and R are true and R is the correct explanation of A.

(2)  Both A and R are true, but R is not the correct explanation of A.

(3) Adistrue. but R is false.

(4) Ais false, but R is true.

REIES (A): Boore &S558 1956 S eoGHBT o edoHSo ST Daren
Savdod.

SN0 (R) : sold Tafdh Tabiien 8f¥d EHn Bvorn Paod ISoo
(RE 50 SrGBor Sr8 ) Sod.

ROPS TGS : _

(1) (A) D8A5® (R) Do SO, HBAW (R) &0 (A) DOT Jddea.

(2)  (A)DOAW (R) Boddr SO, 5° (R) 30 (A) DOTS D8 5.

3)  (A) OIS, 5% (R) QOIS s°¢h.

4) (A QOIS 5780, 5°A (R) OIS,

192. Telangana poets, artists, teachers and journalists formed the “Sahithi Mitra Mandali” (SMM) and

conducted a huge meeting in March 1997, Where was this meeting held ?
()  Warangal (2) Karimnagar
(3) Bhuvanagiri (4) Khammam

BOOmRS TodS EHew, §ersden, eddsdven JBs® SHonsden DD “Frird s
DOGO” (SMM) ©F D0PD IBIED 1997 Ird)S ) 02 BOFK. & 25 8y

28fo& ?
(1)  SBokS 2) 8bo5ub
(3)  20SSHO 4) N0
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193. Match the following famous tanks with those who built them during the Kakatiya period.

List-I (Tanks) List-I1 (Builders)

a. Kesamudram i.  Mailamba

b. Ramappa Cheruvu ii. Prolarajul

¢. Ghanapur tank i, Ganapathi Deva

d. Bayyaram tank , iv. Recherla Rudra

SESANe o0 T8 (808 (KDY THIeD, T8 BLDD T8 HES 2SHEZ.

Der-| (BHHew) Do -1 (V8008 %)

a3 dadw|cdsm i, Derod

b. T°N) Ty /1/1 B le |

c. NS B THeY / ili. e &S

d. 205ri80 LY iv. B9 &I

The correct answer is : QODS DATLTSO
a b ¢ d

M i v i i
@ i i v i
(;y\i v i
@y i v i

194.  Which of the following was not a part of the six point formula that was signed in September
1973 2

(1) A state level Planning Bloard to be-constituted.

(2) A Central University to be established in Hyderabad.

(3)  Two separate High Courts to be established, one for Andhra another for Telangana.
(4)  Local candidates to be given preference in appointments and promotions.

& (800 88 DB 6 dr@e HdsosS Bk ?

(1) 23 DSEE O IDETVS HOJTRY VO™ TADSo.

(2) 28 SolOHaADH DIV IOATA) ST erS’ FDOSEO.

@) Both TEPen 288 oG, HEES Boornss Homyen Fchiso,

4) &8sk AdHDsOE, Lgﬁr:aééh FRAOHR [Brerdsed R)r;S,sc‘.So.
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195.  Match the following organisations with the names of the founders.
List-I (Organisations) List-1T (Founders)
a. Telangana NGO i. Akula Bhumaiah
b. Telangana Study Circle ii. Ale Narendra
c. Telangana Ikya Vedika iii. Gade Innaiah
d. Telangana Sadhana Samithi iv. Amos K.R.
808 HoPewn, e8 FTHONS TOS BSDHGLDL.
arder-1 (SoPew) arDer-11 (FH%oen)
a. S8OOITD JN.2.4. i ede Frdaby
b. Beworen HA 38,5 iil. @3 SBod
c. Bo0ors D8 IO% ,>< iii. T ad) oy
d. S8oors S S iv. 3.5 3rD
The correct answer is : QO DTGNS0
a b c d
0 i iv i
2 iv i i ii
3) i v i i
4 iv i iii ii
196. Match the following Jataras with their places.

a
b.
c

d.

List-1 (Jatara) List-11 (Place)

. Nagoba Jatara i.  Mutyampeta
Edupayala Jatara ii. Kesalapur
Sammakka, Saralakka Jatara iii. Medaram
Kondagattu Anjanna Jatara iv. Nagasanipalle

808 Svorre réded ©d 280 (HBTOS 28583,
Der-1 (28) aDer-11 (Do)
TR 258 L S0850 ey
DD 275 ii. 3PS
Dy, By S ~—ii. Hhado
S0t eoad) e iv. U DS

e & o p

The correct answer is : O DTG0 :

(N
Q)
?3)
@)

a
iv
ii

iii

iv

b
iii
iv
ii

c
i

iii
i

au

d
i
i

v

LE4d
i1
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197. Who is the presiding deity in the thousand pillar temple at Hanumakonda ?

(1} Nameswara (2) Someswara

(3) Rudreswara | (4) Bhimeswara
Fr0Sod S'Q Saw Qozre HAS' Ko re) DTEY SSH ?
() T35 Q) DA

(3) SBIsS® (4) DA

198. During the Kakatiya period, lands were of several divisions. What were the *Acchu Kattu lands" ?

(1) Drylands (2) ' Irrigated lands

(3) Garden lands (4) Pasture lands |

SES O 50’ Zrdnen T Darenrr JHoTD. @iy, L Arsnen” edm I ?
() DY SrSwen (2) ABIBHB e Zrdwen

(3) & 2rdwewn (4) D rdwen

199. Which among the following places was famous for diamond polishing during the Qutub Shahi

period 7

(1) Karwan (2) Kurnool

(3) Guntur (4) Masulipatnam

S0HS rire S0’ Jzred FIBLES (Sare SHNS) & 808 (DBFTOS DB (HO
[nlelalelnt :

() 508 2) 5&mS

(3) Hotwrd (j}/ DOIE 0

200.  The inscriptions issued by Naganika speak of the Aswamedha and Rajasuya sacrifices conducted
by a Sathavahana king. Who among the following was that king ?

(1) Simukha (2) Sathakarni [

(3)  Apilaka (4) Hala

TEAE DI FITOS FITTS O @IDG, TBIrOD cHFEn TS
B0 HIOBI0D .8 TS S T°2° DI 7

() Do 27 28 7830

3) o¥ @) Jo
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